MIA M I-DADE MIAMI-DADE COUNTY, FLORIDA

[ METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305)375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

M.Q. Windows
1855 Griffin Road, Suite A-274
Dania, F133004

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Series “S70/83 & S70/114” Outswing & Inswing Mahogany French Doors

APPROVAL DOCUMENT: Drawing No. MQF70-2D, titled “Series S70/83 & S$70/114 Inswing Wood Doors”,
sheets 1 through 27 of 27, prepared by Walter A. Tillit, P.E., dated 9/11/97 with revision on 9/16/02, signed and
sealed by Walter A. Tillit, P.E., bearing the Miami-Dade County Product Control Renewal stamp with the Notice
of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 97-1006.06 and, consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No 02-0129.09

Expiration Date: December 10, 2006
Approval Date: October 24, 2002
Page 1




51/4 14 MAX. 14 MAX. 14 MAX. 14 MAX., 5 1/4
| {1
{ [
51/4 5 1/4
T i
14 MAX. X / \X <K> 14 MAX.
14 MAX / \ 14 MAX
/ \® -
14 MAX. 14 MAX
14 MAX \ 14 MAX.
FOR DOORS ]
J—. @ UP TO |
139 1/2" FH <3
14 MAX. 114 Max. T
N FOR DOORS ~
j. N UP TO X
96" FH /
[o2]
14 MAX 14 MAX. 2
B \ N\\ & / o
14 MAX. 14 MAX
i \ t = / ]
4] ~ ——
~
)
14 MAX \no / 14 MAX
M)
14 MAX. ® \ / H @ 14 MAX
L i i
5 1/4 51/4
74 !
51/4 f14 MAx.flm MAX,{M MAX.!M MAx.ﬁ 5 1/4
64 FW & OSW———

VIEWED FROM THE INSIDE

CONFIGURATIONS:
X, XX, 0/XX

WOOD: Mahogany

51/4 ., 14 MAX.T14 MAX. 14 MAX. 14 MAX. =) 1/4 DESIGN PRESSURE
— ! ( I . Acting Inward: +58 psf
5 1/4 5 1/4 Acting Outward: —68 psf WINDOWS ®
T‘E il NOTE: Al sizes noted are TEAMERCAS
X X maximum sizes. Sizes smaller
14 MAX. / \ K 14 MAX. in width & height are permitted. 1855 GREFIN ROAD, SUITE A~274
1+ N N ——t ANCHOR FASTENERS
N / \ W —_Steel Bracket POF—F5-05 SERIES S70/83 & 70/114
14 MAX 14 MAX Screwed to the buck frame ond INSWING
to the door frame with
j—. '® | #0 x 1=3/4 in. flat head screws || WOOD DOORS
i Min. embedment is 1-1/2". METRO DADE COUNTY
14 MAX F 14 MAX —< Screwed through the door IMPACT RESISTANT
frame to the buck frame with PA201, PA202 & PA203
/ h \ #14 x 3 in. flat head screws.
+——] F —— Min. embedment is 1-1/2 in, .
; \ OPTONAL: Directly screwed [[0-0n9 Mo MQF70-2D
14 MAX. AN 14 MAX. L through the frame and through  (I'Scale: Drawn by:
7 AN ) the masonry with 1/4" x 3" o
1 N E%R DOORS _ 1 o Tapcon. Embedment is 1-1/2 in. NONE E. Corrbell
139 1/2" FH 3 OR: Using the stee! bracket Date drawn: Date revised:
E 1 - PDF-FS~05 screwed to the 09/11/97 09/16/02
14 MAX AN NN | H14 MAX frame with #10 x 1-3/4 screw  [[File: Page:
\ \ g
n E ~ & screwed to the masonry with Dade2in_1.dwg 1/27
4 — @ U%R%OORS >~ 1/4" x 21/2" Tapcon screw.
\\ 86” FH / > Min. embedment is 1-1/2 ENGINEER:
14 MAX. \ 7/ 14 MAX. ™2 INSTALLATION FASTENERS:
Spacing is d5;1/4 in. fr7m
) comers an max e/c.
+ \@ / SHIM SPACE:
14 MAX <F> 14 MAX 1/4 IN. @ JAMBS, HEAD & SILL ST‘LUCJUMLV LevieweDd @(1-.
N \ J a- / B HINGES SPACING
\ k Two pins hinges # 20-20 by ! l"-iEcQu:. 5
14 MAX. © N 14 MAX. Simonswerk GmbHi secured with TILLIT TESTING & ENGIREERG COnA
\\\\\ \"’ / \\\\ two #8 x 1-1/2" screus 6595 MW 36th STREET, STE 217
. géSTERéALr; e stee (apen in) ) MiAM!, FLORIDA 3313
. pichromatea steel {open in .
Y \ / H»(H’ SS: Stainless steel (open out) WALTER A. TILLIT JR., PE,
14 MAX. 14 MAX. . STRUCTURAL ENGINEER
FRAME  QTY: DIST. 0/c
L i ] HEIGHT rou M |- FL. LIC.NO. 44
— 1 = UP TO CORNER {7 e =
1 . 4 ; . . ZoToT
51/4 i SV w81 2 618 27 AT R
s /4| J1e maxhie waxtia uaxtie max| | s 1/4 691/8" 3 61/8" 27
} } } } } 9% 1/8" 4 61/8" 27
139 1/2° 5 61/8" 30 3/8" "
4 64 FW & OSW
PRODUCT RENEWED
;! ::plpl():'in‘f with the Flo;
uiding Code
LEGEND: 09/16/02 MAX. PERI |MAX. AREA
TYPE OF GLASS f
FW: FRAME SIZE, WIDTH A n] | [saft]
FH: FRAME SIZE, HEIGHT G2; LAMINATED GLASS, Saflex .090 312 23.0
OSW: OVERALL S$IZE, WIDTH 174 ¢l. an.+ 0.090 +1/4 dl. an. :
OSH: OVERALL SIZE, HEIGHT WP: 1”3 /4 RAISED WOOD PANEL 151 1/8 | 883

h

=

Y



33 FW & OSW —9 4 64 FW & OSW ——¢ DESIGN PRESSURE
51/4 14 MAX. 51/4 5 1/4 14 MAX. 14 MAX. 14 MAX. | 5 1/4 Acting Inward: +58 psf
HI IH { Acting Outward: —68 psf WINDOWS @
— - , NOTE:  All sizes noted are TE AMERAS
51/4 | 51/4 41/8 ,_4 1/8 T maximum sizes, Sizes smaller e
T—-“ :-"T —T © in width & height are permitted. 1855 GR{)FFIN ROAD, 3SéJ[;TE—: A-274
I 14 MAX 14 MAX ANIA, FL 33004
N\ >
14 MAX. \ <K> 14 MAX. %__ @ 0 \\\\ ,__+ ok ANCHOR FASTENERS
j 1 14 MAX 14 MAX ® o — Steel Bracket PF—F5 05 SERIES S70/83 & 70/114
\ I 1l - tScrete':/edd to t?e buck frame and INSWING
— - o the door frame with
14 MAX 14 MAX. 51/4 51/4 4—;‘% #10 % 1-3/4 . fiol head screws WOOD DOORS
K 51/4  51/4 Min. embedment is 1-1/2". METRO DADE COUNTY
+— \ —+ T X X Q —d Screwed through the door IMPACT RESISTANT
14 MAX C 14 MAX 0 frame to the buck frame with PA201, PA202 & PA203
14 MAX 14 MAX #14 x 3 in. flat head screws.
. J';x ’<+ Min. embedment is 1-1/2 in. Drawi
JE \ | 1 giggﬁo OPTIONAL:  Directly screwed rawing no.. MQF70-2D
14 MAX 14 MAX through the frame cng through Scale: Drawn by:
14 VAX 14 MAX K the masonry with 1/4" x 3° ~ NONE E. Corbeil
. - JEN — Tapcon. Embedment is 1-1/2 in. ) - -
7} OR: Using the steel bracket ate drawn: Date revised:
j | © PDF-FS-05 screwed to the 09/11/97 09/16/02
e 14 MAX E j 14 MAX fi ith File: "
Q z rame with #10 x 1-3/4 screw ile: Page: 2/27
A\ - 8 ] N\ A\ & screwed to the masonry with Dade2in_2.dwg
14 MAX 14 MAX. T - 1 A\ W N 1/4 x 21/2" Tapcon screw.
| ! N S 14 Max / \ 14 MAX - T Min. embedment is 1-1/2 ENGINEER:
- < 2] INSTALLATION FASTENERS:
@ N - FOR DOORS| [|— - Spacing is 5-1/4 in. from
14 MAX. 14 MAX. 2 - N UP 1O | corners and 14" max o/c.
14 MAX § 139 1/2 14 MAX SHIM SPACE:
] -1 1/4 IN. @ JAMBS, HEAD & SILL smuuubm,y Leviewed &7:
4+ @ BgRT[O)OORS -
14 MAX H1a MAX. " HINGES SPACING
=t 14 MAX \ 96" FH / 14 MAX
T Two pins hinges # 20-20 by
T Ny ~—— 4+— \\\\ N N\ —— Simonswerk GmbH secured with -
> two #8 x 1—1/2 SCrews TILLIT TE§TING & ENGINEERING COMPANY
14 MAX s 14 MAX. 14 MAX 14 MAX MATERIAL: 6595 l\llW 36th STREET, STE. 217
i ' BCS: Bichromated steel (cpen in) HIAMI, FLORIDA 33166
. H i +— —— SS: Stainless steel (open out) WALTER A. TILLIT JR., P.E.
n 14 MAX \ / 14 MAX FRAME  QTY: DIST. 0/c STRUC‘TURALENGIN’EER
14 MAX. ) 14 MAX. SEIGT%T E%ngR Max. 11y Fl. uq.goégm
l_ﬁ T _ 1 » %\ / ) r 81/8 2 61/8 27" il
51/4 |{— | 51/4 14 MAX © 14 MAX 6o1/8" 3 61/8 27
A f l_ i ot _l 9% 1/8" 4 61/8 27"
51/4 14 MAX. 5 1/4 —~ ' — 1391/ 5 61/8" 30 3/8 ek
I 51/2
T ' PRODUCT RENEWED W
\ \ \ ( as complying with the Florids
51/4 | [14 MAX.[14 MAX. [14 MAX.] | 51/4 xuvdm‘gCndr: 02-0 Zqu
+ ¢ + + + cceptance No -
Expiration Datc,
VIEWED FROM THE INSIDE LEGEND: Wﬁm TYPE OF GLASS MA)E.inP]ERI. Mﬁt)éq /fk'R]EA N
. FW: FRAME SIZE, WIDTH - — i Control
o K);(lijQ}-;(()%NS' FH: FRAME SIZE, HEIGHT G2;, LAMINATED GLASS, Safiex 090 | 317 | 230 Divg o
) XX, OSW: OVERALL SIZE, WIDTH 1/4 cl._an.+ 0.090 +1/4 cl. an.
WOOD: Mahogany OSH: OVERALL SIZE, HEIGHT WP: 1"3/4 RAISED WOOD PANEL 151 1/8 8.83




51/4 14 MAX. 14 MAX. 14 MAX 14 MAX., . 51/4
| l | 1]
b {1 L
51/4 51/4
1 i
T X X
14 MAX. Kk 14 MAX.
14 MAX / \ 14 MAX
/ \<k>
14 MAX. 14 MAX
41/ N\ N\ |
14 MAX 14 MAX. L
FOR DOORS 3
T n U0 T s
139 1/2°
14 Max. [ FH 14 max.
] ; FOR_DOORS _ | X
n UP, T0 -
36" FH @
14 MAX 14 MAX.
| \ \\\\ \\\ / ,_<+
14 MAx.E 114 MAX
vl /|1
NS
T ~
L]
14 MAX \Eg / 14 MAX
’
14 MAX. @ @ 14 MAX
L] |
5 1/4 51/4
74 !
5 1/4 | a4 Maxtia maxtia maxtia max] | s 174
64 FW & OSW

VIEWED FROM THE INSIDE

CONFIGURATIONS:

X, XX, 0/XX
WOOD: Mahogany

5 1/4 14 MAX. 14 MAX. 14 MAX. 14 MAX. 5 1/4 I
- i ] Acting Inward: +58 psf e
5 1/4 5 1/4 Acting Qutward: -68 psf ®
r i il NOTE: Al sizes noted are oFERGERD
X X maximum sizes. Sizes smaller
14 MAX. 14 MAX. in width & height are permitted. 1855 GRIFFIN ROAD, SUITE A—274
DANIA, FL 33004
‘{»‘ W\ N\ -——t ANCHOR FASTENERS
W / \ N —— Steel Bracket POF-FS—05 SERIES S70/83 & 70/114
14 MAX. 14 MAX Screwed to the buck frame and INSWING
to the door frame with
| / k ___1 #10 x 1-3/4 in. flat head screws WOOD DOORS
e ML Zmbed”;e:: is 1;’4 z'd METRO DADE COUNTY
crewed through the door
14 MAX. s 14 MAX frame to the buck frame with PAIZ%':A(;TAZROEZSIZT?IIZOJ
/ f \ #4 x 3 in. flat head screws. ’
+— ——t Min. embedment is 1-1/2 in.
14 MAX 14 MAX OPTIONAL:  Directly screwed Drawing no.:  MQF70-2D
T through the frome and through .
0 the masonry with 1/4" x 3" Scale: Drawn by:
p n FOR DOORS UP | © Tapcon. Embedment is 1-1/2 in. NONE E. Corbeil
T0 139 1/2" FH B OR: Using the steel bracket Date ?rc}vn: Date revised:
PDF-FS-05 screwed to the 09/11/97 09/16 /02
14 MAx. [ & N 14 MAx = frame with #10 x 1-3/4 screw File: Page'/ /
3 ~ & screwed to the masonry with Dade2in 3.dwg : 3/27
j @ FOR DOORS L X [ 1/4 %2 1/2" Tapcon screw. =
UP TO 96" FH - Min. embedment is 1-1/2 ENGINEER:
14 MAX \ 14 MAX. ™ INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
j | corners and 14° max a/c. W
\ Cf> / SHM SPACE.
14 x| @ . 4 wax 1/4 IN._@ JAMBS, HEAD & SILL Sreveriny Revienes o
\ < / HINGES SPACING h
T ~ . ——
o) Two pins hinges # 20-20 by { I“.IEcO!n.!
14 MAX © W 14 MAX. Simonswerk GmbH secured with
W\ \r') A two 48 x 1-1/2" screws LIT TESTING & ENGINEERING COMPANY
A\ \ MATERIAL: GSQEMD:XVM?G?Lg};J?g;T. STE. 217
4+— . . N d 31
BCS: Bichromated steel (open in) saee
y @@ SS: Stainless steel {open out) WALTER A. TILLITJR,, PE.
14 MAX. <> j T4 MAX. FRAVE QTY: DIST.  0/C STRUCTURAL ENGINEER
L ! J HEIGHOT FROM  MAX. FL. LIC.NO. 43167
T - UP T CORNER (- _
5174 5 1/4 818 2 518 o7 222
51/4 PM MAx.lM MAX.{M MAX.{M MAx.{ 5 1/4 691/8 3 61/8 27
¥ t t + * 9% 1/8" 4 61/8 27
1391/2" 5 61/8" 30 3/8"
‘ 64 FW & OSW / / / o
PRODUCT RENEWED %
as complying with the Florida
Buiding Code
:ﬂfsphnte No02-0129.09
LEGEND: oargroz WAX. PERT. [WAX. AREA on Dute e
Y TEE S22 M e MOE C T
. I1ZE, H X MiamyDade Product Controt
OSW: OVERALL SIZE, WIDTH et 0050 11d & v | W2 | mo Divs
OSH: OVERALL SIZE, HEIGHT WP- 1"3/4 RAISED WOOD PANEL 1511/8 | 883




33 FW & OSW $———64 FW & OSW

DESIGN PRESSURE

51/4 14 MAX. 51/4 5 1/4 14 MAX. 14 MAX. 14 MAX. 5 1/4 Acting Inward: +58 psf
H r ‘r 5 HT Acting Qutward: —68 psf WINDOWS ®
— ’ 0 NOTE:  All sizes noted are THE RO
51/4 51/4 51/4 | 5 1/4 maximum sizes. Sizes smaller
] X E"‘ _T in width & height are permitted. 1855 GRIFFIN ROAD, SUITE A-274
<> 14 MAX <> . 14 MAX ® DANIA, FL 33004
14 MAX. k 14 MAX. *_w a 0 \\\ ,_% T
ANCHOR FASTENERS
©
SERIES §70/83 & 70/114
. . 14 MAX 14 MAX X ik —— Steel Bracket POF-FS-05
% \ + 1 > E Screwed to the buck frame and INSWING
= - to the door frame with
14 MAX. 14 MAX. 51/4 S /4 _45;’; #10 x 1-3/4 in. flat head screws WOOD DOORS
@ 51/4_| | 51/4 Min. embedment is 1-1/2". METRO DADE COUNTY
\ I T d X X -7 < — Screwed through the door (MPACT RESISTANT
t 14 MAX <c> 14 MAX 0 ;"104'"6 go‘theﬂ btuf]k fgﬂme with PA201, PA202 & PA203
X n. fla €00 SCrews.
14 MAX. 14 MAX. {»_h / \ ”—Jf Min. embedment is 1~1/2 in. Drow
1] \ - SEEALSO OPTIONAL: Directly screwed rawing no..  MQF70-2D
14 MAX PAGE 17 " 14 MAX ::rough the frame ;nd through Scale: Drawn by:
e masonry with 1/4" x 3" ;
14 MAX. 14 MAX. T 1+— / \O l—— Tapcon. Embedment is 1-1/2 in. NONE E co':be'l
R Usi Date drawn: Date revised:
% OR: Using the steel bracket
4—— | — o & 14 MAX / \ 14 MAX POF-FS-05 screwed t; the 09/11/97 09/16/02
3 & o~ frame with #10 x 1-3/4 screw File: Page:
14 MAX NN 514 MAX, T 0 | & & _,_% }I fc/:grew;d&o the masonry with Dade2in_4.dwg ° 4/27
i - X c /4 x 2" Tapcon screw.
Q : 14 MAX / \ 14 MAX 3 Min. embedment is 1-1/2 ENGINEER:
| - ~ 2 N INSTALLATION r?EIENEfRS:
(2] 4— 4 pacing I1s Jo— In. from
1 AX. e uax 3 @ FOR DOORS|, |-~ comers and 14" max o/c.
14 MAX 4 139 1/2" { 14 MAX SHIM SPACE:
j / - ’ EH 1/4 N0 iwBs, R0 & SLL. | [STocriencey dewewed 8 :
14 MAX H1a MAX @ UgTTBOORS | HINGES SPACING
|l b=t ! : 14 MAX 96" FH 14 MAX
N < - . . ;?Jo pins rf‘l(inqes #20-20 by_ Ill.lmug.
> =N A\ T monswerk Cmbli secured vith TILLIT TESTING & ENGINEERING COMPANY
" two B x 1-1/2" screws 6595 NW 36th STREET, STE. 217
14 MAX. ® 14 MAX. 14 MAX \ / 14 MAX MATERIAL: L_ MIAMI, FLORIDA 33166
i = BCS: Bichromated steel (open in)
— ) _— ———t SS: Stainless steel (open out) WALTER A. TILUT JR., P.E.
(? h { 14 MAX \ / 14 MAX FRAME  QTY: DIST.  0/C SIIlgLCIm%EN?gEEH
14 MAX. 14 MAX. HEIGHT FROM MAX. ° -
( i @ | UP TO CORNER EQM’ SE, ool
l_~ r___i y h 81/8° 2 61/8 o 7
5 1/4 5 1/4 14 MAX 14 MAX 691/8" 3 61/8 27"
" N " y "
ST r 9% 1/8" 4 61/8" 27
51/4 14 MAX. 5 1/4 s 11/—4~—E ,5_11/4 191/2" 5 _61/8" 303/8 R
’ | ] 7 g PRODUCT RENEWED ™%
51/4 | [14 MAX. |14 MAX. |14 MAX.] | 51/4 &5 complyng with e Floriga
2 + + 4+ — g Code
A N, -0
VIEWED FROM THE INSIDE LEGEND: R TYPE OF GLASS WY, PEL TV 1R 0.02-0124.09
in. sq.ft.
. W: ME SIZE, WIDTH
CON)'(: IC;&RS-/I-)I(?NS' F FRAME SIZE, HETGHT G2; LAMINATED GLASS, Saflex .090 32 230
» s OSW: OVERALL SIZE, WIDTH 1/4 cl. an+ 0.080 +1/4 ¢l an. i
WOOD: Mahogany OSH: OVERALL SIZE, HEIGHT WP: 1"3/4 RAISED WOOD PANEL 151 1/8 8.83




51/4 14 MAX. 14 MAX. 14 MAX. 14 MAX. 51/4
g i '
5 1/4 ([ | 5 1/4
i X i
14 MAX. / \ L 14 MAX.
JF“ -
14 MAX. / \\ 14 MAX.
\@ _P+
i / i
14 MAX. 14 MAX
/NN
14 MAX. / \ 14 MAX.
FOR_DOORS ]
~ 0 UP_TO -
139 1/2" FH <3
14 MAx.f 114 Max. £
FOR_DOORS ~
Q UP TO - <
96" FH / -
fe2d
14 MAX. \ 14 MAX. 2
HIN NN /| F
14 MAX. {14 wax
i \ g /
*_'R 5 B
~
La}
14 {r/z\x. \99, / 14 MAX.
14 MAX. @ \ / J @ 14 MAX.
| i i
51/4 51/4
{
5178 | D4 maxfie maxfie uaxdie maxq | 5174
64 FW & OSW ———

VIEWED FROM THE OUTSIDE

CONFIGURATIONS:
X, XX, 0/XX

WOOD: Mahogany

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES $70/83 & 70/114
OUTSWING
WOOD DOORS
METRO DADE COUNTY

IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.:  MQF70-2D
Scale: Drawn by:
NONE E. Corbeil
Date drawn: Date revised:
09/11/97 08/16/02
File: Page:
Dade2out_1.dwg ¢ 5/ 27

ENGINEER:

TILLIT TESTING & ENGINEEAING COMPANY
6595 NV 36th STREET, STE. 217
MIAMI, FLORIDA 33165

WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER
. FL.LICNO. 43167
CQZ"(A?/‘%‘—/M\ =
T S5 )o

5 1/4 . 14 MAX 14 MAX. 14 MAX. 14 MAX. 5 1/4 DESIGN PRESSURE
— I Acting inward: +58 psf
5 1/4 5 1/4 Acting Outward: —68 psf
] NOTE: Al sizes noted are
r X X er maximum sizes. Sizes smaller
14 MAX. / \ L 14 MAX. in width & height are permitted.
<l»~ W N - ANCHOR FASTENERS
/ \ —— Steel Bracket PDF-FS-05
14 MAX. 14 MAX Screwed to the buck frame and
L to the door frame with
— . #0 x 1-3/4 in. flat head screws
Min. embedment is 1-1/2".
F —4 Screwed through the door
14 MAX. Q 14 MAX frame to the buck frame with
/ ) \ #14 x 3 in. flot head screws.
4+—— F - Min, embedment is 1-1/2 in.
/ \ OPTIONAL:  Directly screwed
14 MAX 7 N 14 MAX. L through the frame ;nd through
7 [ the masonry with 1/4" x 3"
— O SgRTBOORS | { © Tapeon. ‘Embedment is 1-1/2 in.
139 1/2” FH < OR: Using the steel bracket
T PDF—FS-05 screwed to the
T4 MAX. N N 14 MAX. & frame with #10 x 1-3/4 screw
W o~ & screwed to the masonry with
. @ FOR_DOORS 1 ~ 1/4" x 2 1/2" Tapcon screw.
\ UP TO 96 FH/ o Min. embedment is 1-1/2
14 MAX / 14 MAX. 2 INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
L F | corners and 14" max o/c.
ﬁ \\ / SHIM SPACE:
14 MAX. E (F> _ EM' MAX 1/4 IN. @ JAMBS, HEAD & SILL
JN \ M / -l HINGES SPACING
} Two pins hinges # 20-20 by
Simonswerk GmbH secured with
14 MAX t\\\ \Eg / & 14 MAX two #8 x 1-1/2" screws
] | MATERIAL:
BCS: Bichromated steel (open in)
’ SS: Stainless steel (open out
14 MAX. @ \ /@@ 14 MAX (op )
E j FRAME ~ QTY: DIST. 0/c
HEIGHT FROM MAX,
~ UP TO CORNER
51/4 -~ 5 1/4 ®1/8 2 618 o7
5 1/4 14 MAX.114 MAX4i14 MAX.{M MAx.f 5 1/4 691/8" 3 61/8" 27
+ + ' + . 9%1/8° 4 61/8° 27
139 1/2 5 61/8" 30 3/8"
————— 64 FW & OSW
LEGEND: 09/16/02 MAX. PERIL [MAX. AREA
N FRAME ST MDTY, R o it
FH: 1ZE, G2; LAMINATED GLASS, Saflex .090
OSW: OVERALL SIZE, WIDTH /4 dl. an.+ 0.090 41/ di. an. 312 230
OSH: OVERALL SIZE, HEIGHT WP 1"3/4 RAISED WOOD PANEL 1511/8 | 8.83

PRODUCT RENEWED ™

&3 complying with ¢
Buiding C. odge he Floridg

MiamyDy, e Product Controt
Divis|




33 FW & OSW —4 64 FW & OSW y DESIGN PRESSURE
51/4 14 MAX. 5 1/4 5 1/4 .14 MAX. 14 MAX. 14 MAX. 51/4 Acting Inward: +58 psf
\ | } T) BI Acting Outward: -68 psf WINDOWS ®
— NOTE:  All sizes noted are TE AR
51/4 | 51/4 51/4 |5 1/4 T maximum sizes. Sizes smaller ™
] il - in width & height are permitted. 1855 GRIFFIN ROAD, SUITE A~274
H 14 MAX 14 MAX Q DANIA, FL. 33004
14 MAX. L 14 MAX. A 0 NN -
%__ - o ANCHOR FASTENERS
jN | 14 MAX 14 VAX @ o ™ —Steel Bracket POF—FS-05 SERIES S70/83 & 70/114
\ | 7% Screwed to the buck frame and OUTSWING
- - 0 to the door frame with
14 MAX. 14 MAX 51/4 5 1/4 > #0 x 1-3/4 in. flat head screws WOOD DOORS
@ 51/4  51/4 T Min. embedment is 1-1/2". METRO DADE COUNTY
—— —t T % X L —4 Screwed through the door IMPACT RESISTANT
14 MAX E 14 MAX 0 frame to the buck frame with PA201, PA202 & PA203
14 MAX 14 MAX #14 x 3 in. flat head screws.
. J / \ | Min. embedment is 1-1/2 in. Orowi
4 \ -4 g;zgg?o OPTIONAL:  Directly screwed rawing no..  MQF70-2D
14 MAX 14 MAX through the frame and through Scale: Drawn by:
L the masonry with 1/4” x 3" NONE E. Corbeil
14 MAX. 14 MAX 1 _— Tapcon. Embedment is 1-1/2 in. -
T - —4 OR: Using the steel bracket Date drawn: Date revised:
JEN .4 © 14 MAX | 14 MAX PDF-FS-05 screwed to the 09/11/97 09/16/02
\\\ 3 z / gome witg #10 x 1-3/4 screw l-;)ileé pout_2 Page: 6/27
N 1 \ N\ . screwed to the masonry with ade2out_2.dwg
14 MAX. 114 Max. = © — \\\\ \ — Q 1/F %212 Tapoon sCiew.
Q 2 14 MAX / \ 14 MAX -z Min. embedment is 1—1/2" ENGINEER:
jN S SN ” 2 INSTALLATON 1F?A§TENERS:
o . 1 - pacing is 5— in, from
14 MAX. 14 MAX., 2 = @ GgRTBOORS corners and 14" max o/c.
14 MAX 139 1/2” 14 MAX SHIM SPACE:
4 / — FH 1/4 IN. @ JAMBS, HEAD & SILL 5”“’"””"’”‘/ Reviewed ay:
+— Q FOR_DOORS|/ [l-~—+ )
UurP 10 HINGES SPACING
14 MAX. E=‘T / i 14 MAX \ 96” FH 14 MAX - T TLIECO e
wo pins hinges -20 by Gl NG OO0 PANY
T g T T \\\\\ \\\\ i Simonswerk GmbH secured with TlLLITGES?E\%ﬁaéh%%é?{%\s%E C?“.. PANY
two #8 x 1-1/2" screws MIAKT FLOPITA 33005
14 MAX Y 14 MAX 14 MAX \ / 14 MAX MATERIAL: l
ol BCS: Bichromated steel (open in) | | WALTER A. TILLIT JR., P.E,
J— @ ] \ —— SS: Stainless steel (open out) STRUCTURA:.)E:‘?!C?#EER
o N Bl
> FRAME QTY: DIST.  0/C FL. LIC.NC. 25
14 MAX. 76: @ 14 MAX. 14 MAX / 14 MAX HEIGHT T A S S
L (v < UP TO CORNER " v
LT _ N D i 481/8" 2 e1/8 27
51/4 51/4 14 MAX @ 2\ /@@ 14 MAX 691/8° 3 61/8 27
. . " . o f "
¥ : L 2 %1/8° 4 61/8 27
5 1/4 ] [hamax | | 51/4 s } s 1391/ 5 61/8 30 3/8
i 1 ! T 7 PRODUCT RENEWED
51/4 | 114 MAX. |14 MAX. [14 MAX.] | 51/4 B compying ithth Foridy
ad ¥ T + A r e
Acceptance NoD2-0129,
VIEWED FROM THE OUTSIDE LEGEND: . WAX. PERI. [MAX. AREA Egpirati 0206
CONFIGURATIONS: Y TRAE SgE T 2 e
. : s G2; LAMINATED CLASS, Saflex .090 Miam
X, XX, 0/XX OSW: OVERALL SIZE, WIDTH {74 cl an.+ 0090 +1/4 . an. 312 230 Divis
WOOD: Mahogany OSH: OVERALL SIZE, HEIGHT WP: T"3/4 RAISED WOOD PANEL | 151 1/ | 883




51/4 14 MAX. 14 MAX. 14 MAX. 14 MAX.,  51/4
| I (]
— .
51/4 5 1/4
T [x X 1
14 MAX. | 14 MAX.
14 MAX / \ 14 MAX
|
. / \O !
14 MAX | 14 MAX
d1/7 NN N
14 MAX 14 MAX. o
FOR DOORS 8
+— o UP TO T s
139 1/2"
14 MAX. [ FH 14 max. T
J q FOR DOORS 1 <
UP 0 -
96" FH @
14 MAX 14 MAX. 2
. \ A \\\ / |
14 MAX. a‘ {14 Max
=
\ /
ﬁ' | —
T N
M
14 MAX. \;‘g / 14 MAX
14 MAX. w 12U 14 MAX
5 1/: 5 1/4
—
51/4 }14 MAX‘iM- MAX.ﬂM Max.|14 MAx.ﬁ 5 1/4
64 FW & OSW

VIEWED FROM THE OUTSIDE

CONFIGURATIONS:
X, XX, 0/XX

WOOD: Mahogany

5 1/4 : 14 MAX. 14 MAX. 14 MAX. 14 MAX. 5 1/4 DESTON PRESSURE
— . Acting Inward: +58 psf
51/4 5 1/4 Acting Outward: —68 psf
r"ﬁ j"T NOTE: Al sizes noted are
X X maximum sizes, Sizes smaller
14 MAX. | 14 MAX. in width & height are permitted.
—~ N N ——t ANCHOR FASTENERS
\ / \ N —— Steel Bracket POF-FS-05
14 MAX. 14 MAX Screwed to the buck frame and
| to the door frame with
— | #10 x 1-3/4 in. flat head screws
! Min, embedment is 1-1/2".
— Screwed through the door
14 MAX. Cf> N 14 MAX frame to the buck gfrcime with
/ f \ #14 x 3 in. fiat head screws.
— -—— Min. embedment is 1-1/2 in.
¥ OPTIONAL:  Directly screwed
14 MAX. / 14 MAX. Lo through the frame and through
%] the masonry with 1/4" x 3"
FOR_DOORS 8 . .
— o) | Tapeon. Embedment is 1-1/2 in.
UP TO h
139 1/2" 3 ggF FUSS"E)% the stesl tbrutct:lket
—FS—05 screwed to the
14 MAX.f \\\ H \\\\ 14 MAX. & frame with #10 x 1-3/4 screw
~ & screwed to the masonry with
— q EgRTgooRs — 14 ~ 1/4" x 21/2" Tapcon screw.
9" ; Min. embedment is 1-1/2"
14 MAX \ 7 14 MAX. ™ INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
| | comers and 14" max o/c.
\ f’ / SHIM SPACE:
14 MAX, E £ j 14 MAX 1/4 IN. @ JAMBS, HEAD & SILL
) B j -
J \ { / _ | HINGES SPACING
s} Two pins hinges # 2D-20 by
Simonswerk GmbH secured with
14 MAX \\\ \3'% / &\\ 14 MAX two #8 x 1-1/2" screws
! MATERIAL:
T <> Q BCS: Bichromated steel (open in)
N m :
w i Q> SS: Stainless steel (open out)
AX. 14 MAX
M j FRAME  QTY: DIST. 0/C
L i N HEIGHT FROM  MAX.
" - UP TO CORNER
51/4 5 t/4 B8 2 618 27
51/4 [14 MAx.ﬁM MAx.[M MAx.{m MAx.[ 51/4 691/8" 3 61/8" a7
‘ \ ' + + 96 1/8" 4 61/8" 27
1391/2" 5 61/8" 30 3/8"
64 FW & OSW ——m8——— / / /
LEGEND: 09/16/02 MAX. PERI [MAX. AREA
K TEAE SEE M e o A
H: . - LAMIN flex .
OSW: OVERALL $IZE, WIDTH G Gt e e %0 | 3o 2.0
OSH: OVERALL SIZE, HEIGHT WP: 1"3/4 RAISED WOOD PANEL 151 1/8 8.83

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES $70/83 & 70/114
OUTSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.:  MQF70-2D
Scale: Drawn by:
NONE E. Corbeil
Date drawn: Date revised:
09/11/97 09/16 /02
File: Page:
Dade2out_3.dwg 9 7/27
ENGINEER:
srnacrvl—ﬂu/ £&yreweh 8y:

TILLIT TESTING & ENGINEERING CO*FANY
6595 NW 36th STREET, STE. 2°~
MIAM), FLORIDA 33166

WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER
Fi. LIC.NO, 43167

WL:’)(?'!/

PRODUCT RENEWED
A3 complying with the i
Buiding Code Florida




1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES $70/83 & 70/114
OUTSWING
WOOD DOORS
METRO DADE COUNTY

IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no..  MQF70-2D
Scale: Drawn by:
NONE E. Corbeil
Date drawn: Date revised:
09/11/97 09/16 /02
File: Page:
DadeZout_4.dwg ¢ 8/27
ENGINEER:
smw.mzm.u/ REVIEVED By

TILLIT TESTING & ENGINEERING CO'*“AMY
6595 NW 36th STREET, STE.2* ~
| MIAMI_ FLORIDA 33165

WALTER A. TILLIT JR,, P.E,
STRUCTURAL ENGINEZR
Fi. LIC.NO. £3167
@W‘C@\

i (=

+ 33 FW & OSW —9 64 FW & OSW DESIGN PRESSURE
5 1/4 14 MAX. 5 1/4 5 1/4 14 MAX. 14 MAX. 14 MAX. 51/4 Acting Inward: +58 psf
t 1 ) If T 1 Acting Outward: —68 psf
— ! | " ! L ! » NOTE:  All sizes noted are
51/4 51/4 51/4 | 5 1/4 T maximum sizes, Sizes smaller
] % |~ -t in width & height are permitted.
r 14 MAX " 14 MAX L
14 MAX. [ 14 MAX Fn a 0 N - Ci ANCHOR FASTENERS
| 14 MAX @ M —— Steel Bracket POF-FS-05
T - 14 MAX 1 >~ Screwed to the buck frame and
\ l——- - - © to the door frame with
14 MAX. 14 MAX 51/4 51/4 #F #10 x 1-3/4 in. flot head screws
Min. embedment is 1-1/2".
51/4_| "5 1/4
j D T_ X L — Screwed through the door
j 14 MAX X 14 MAX 0 frame to the buck frame with
€ #4 x 3 in. flat head screws.
14 MAX 14 MAX / \ B Min. embedment is 1-1/2 in.
— \ | SEEALSO OPTIONAL:  Directly screwed
' 14 MAX PAGE 17 14 MAX through the frame and through
| the masonry with 1/4” x 3
14 MAX 14 MAX . J— | Tapcon. Embedment is 1-1/2 in.
2 OR:  Using the steel bracket
— | - PDF-FS-05 screwed to the
) ] T 14 MAX f / \\ ] 14 MAX frame with 10 x 1-3/4 screw
R\ \Y j 8 N\ W & screwed to the masonry with
14 MAX 14 MAX. & — W N 1 N 1/4" x 21/2" Tapcon screw.
~ « 14 MAX 14 MAX -z Min. embedment is 1-1/2"
P 4 >~ : \ 2 g‘JSTALLATIOg\J FASTENERS:
Ju— D - pacing is 5-1/4 in. from
14 MAX 14 MAX 8 & @ LFJ%RTDOO"RS corners and 14/ max o/c.
14 MAX 139 1/2 14 MAX SHIN SPACE:
j 1 i FH i 1/4 IN. @ JAMBS, HEAD & SILL
+— @ FOR_DOORS| /|[——
” HINGES SPACING
14 MAX. 14 MAX 14 MAX 96" FH 14 MAX
Two pins hinges # 2D-20 by
ja— —— j N N — Simonswerk GmbH secured with
\ \ two #8 x 1-1/2" screws
14 MAX 14 MAX 14 MAX \ 14 MAX MATERIAL:
BCS: Bichromated steel (open in)
1 1 +— ——t SS: Stainless steel {open out)
FRAME  QTY: DIST. 0/C
14 MAX 14 MAX 14 MAX \ / \ 14 MAX HEIGHT FROV  MAX.
: I : j UP T CORNER
L~ - T @ 3 i T w18 2 618 27
51/4 51/4 4 MAX 14 MAX 691/8" 3 61/8 27"
el f r' . ! 1 S j 9% 1/8 4 61/8 27
AX. . . 139 1/2" 5 61/8° 30 3/8"
51/4lv14MXJY l51/4 5 174 ! 51/
! ) ) ) { !
51/4 | |14 MAX. 14 MAX. |14 MAX| | 51/4
VIEWED FROM THE OUTSIDE LEGEND: DQKM TYPE OF GLASS MAX'][]'.)ERL Ml\[)équAtR]EA
CONFIGURATIONS: FW: FRAME SIZE, WIDTH
: FH: FRAME SIZE, HEIGHT G2; LAMINATED GLASS, Saflex .090 32 230
, XX, 0/XX OSW: OVERALL SIZE, WIDTH /4 cl. an.+ 0.080 +1/4 cl. an.
WOQOD: Mahogany OSH: OVERALL SIZE, HEIGHT WP: 1"3/4 RAISED WOOD PANEL 151 1/8 8.83

PRODUCT RENEWED
as complying with the Florida
Buiding Cade




Shim space

Using the steel bracket

PDF-FS-05 screwed to the
frame w/#10 x 1-3/4 screw &
screwed to the mosonry with

2 1/2" Tapcon screw.

M4 X
in embedment is 1-1/2"

—— Steel Bracket PDF-FS-05
Screwed to the buck frame &
to the door frame with

10 x 1-3/4 in. F.H. screws
in. embedment is 1-1/2".

1/4” Shim space

2 X 4 PT WOOD BUCK

contnuous Tt 1/4” Shim space @ FOR DOORS UP TO 139 1/2° FRAME HEIGHT @ FOR DOORS UP TO 96" FRAME HEIGHT ®
1X 4 PT ) ., " "
WOOD SHIM 47/8 6 7/8 6 7/8 47/8 *T
31/4" 1 5/8" 15/8"  35/8 15/8 15/8" 35/8" 15/8 15/8"  31/4" |
l
INACT ACTIVE INACTIVE ACTIVE
@ HE-441 D | He-441 f HE-448 He-451| G \
Q7T T === = 3 e
2
= = =
WY O ¢ 7 7
[&] < &)
: HE—441
1/4”
) 9 PR ” 3 1 T " Shim
13/4% 2 1/2" 574 /4" 2 1/27 378" 2 1/2" 3/4 3/4° 2 1/2°3/8" 2 1/2" 5/4 3/4" 21727 11 3747 space
’LDAYLIGHT
OPENING

Directly screwed through the

frame 1o the masonry

with

1/4” x 3" Tapcon.  Minimum

embedment is 1-1/2 in.
NOTES:
INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners & 14" max o/c.
SHIM SPACE:
1/4 IN. @ JAMBS, HEAD & SILL

+-DOOR WIDTH—==
-+——0VERALL WMDTH & FRAME WIDTH

09/16/0;

—~=—=—0DOOR WIDTH-¢

OVERALL WIDTH & FRAME WIDTH

—4 Screwed through the door
frame to the buck frame with
14 x 3 in. flat head screws.
in. embedment is 1-1/2 in.

'OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES §70/83 & 70/114
INSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT

PA201, PA202 & PA203
Drawing no.:  MQF70-2D
Scale: Drawn by:

NONE E. Corbeil
Date drawn: Date revised:

09/11/97 09/16 /02
File: Page:
Dade2in_5.dwg s 9/ 27

ENGINEER:

Smuuvucu, L& ieved By :
L ECO -

" TILLIT TESTING & ENGINEERING COMFANY
i 8595 NW 36th STREET, STE. 2 °
L WIAM! FLOR'DA 83165

WALTER A. TILLIT JR,, P.E,
STRUCTURAL ENGINEER
FiL. UC.NO. 43157

Z 7/’;7a v

@ IMPACT RESISTANT GLASS

62: LAMINATED GLASS; 1/4" dl. on.,
0.090" SAFLEX PVB, 1/4" l. an.

(2) EPOM MIDDLE GASKET L5150

(3) EPDM EXTERIOR GASKET D111

@ ADJUSTABLE HINGE 20-20

(5) HARDWARE SLOT (STD "EUROGRODVE”)

1/4" x 2" CF GALVANIZED STEEL PLATE REINFORCEMENT NO. AI0650

ATTACHED W/ 1 1/2" NO 8 WOOD SCREWS @ 16" 0/C

(7) HANDLE

ASTRAGAL WQOD PROFILE HE-448, ATTACHED TO THE INACTIVE SASH WITH
#8 X 1=1/12" SCREWS SPACED @ 14" 0/C (MINIMUM EMBEDMENT: 3/4")
({0) 3/8" x 2 1/2" CF GALVANIZED STEEL PLATE REINFORCEMENT NO. Al1064
ATTACHED #/11/2" NO 8 WOOD SCREWS @ 16" 0/C

“®=CLEAR "SPECTREM 2" SILICONE SCELLANT AT SHOWN INTERFACES

PRODUCT RENEWEp ~

as complyin,
Buiding Cod g With the Florida

Acreplnnce N
E o




OVERALL HEIGHT
FRAME HEIGHT—= —~—FRAME HEIGHT

DOOR FRAME HEIGHT

4

1.3/4"17/8"

|

17/8"

| —2X

e ‘/'\

|

3/4"

21/2"

kA

@

3/4" 21/

4 DAYLIGHT o
OPENING

-T——— OVERALL HEIGHT———o

—+#——DOOR FRAME HEIGHT

CONTINUQUS
1X4PT
WOOD SHIM

2 3/8

27 T 2" Q""

N ~
/M_\ o

o

OPTIONAL
> * RAL ES
o~ L 6 a
x 7]
PR L% =<.

. x

~N >

~ 8 }

- g > e

~ T
—

2

4 PT WOOD BUCK

—— Steel Bracket PDF-FS-05

Screwed to the buck frame &

to the door frame with

&10 x 1=3/4 in. F.H. screws
in. embedment is 1-1/2",

3" #12 wood screw
from internal
corner & 14" o/c

Directly screwed through
the frame to_the masonry

with 1/4” x 3" Topcon screw.
Min. embedment is 1-1/2 in.
CONTINUOUS
1X4PT

WOOD SHiM

3" #12 wood screw
at 4" from internal
corner & 14" o/c

GE-074

SEE ALSO
PAGE 17

~==—DOO0R HEIGH

3/4" 21727 1 3/4"

\ 2 3/4 | 23/4

5
s

>

)|
5 3/8"

SASH BAR:
Screwed at both ends

Using the steel bracket

PDF-FS-05 screwed to the

frame w/#10 x 1-3/4 screw &

screwed to the masonry with
:/4" x 2 1/27 Tapcon ‘screw.
in. embedment is 1-1/2

09/16/0:
NOTES:
INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners & 14" max o/c.
SHIM SPACE:
1/4 IN. @ JAMBS, HEAD & SILL

f—< Sctrewtid Lhrol::gfh the dg{gr

rame to the buck frame wi

2 X 4 PT WOOD BUCK &14 x 3 in. flat head screws.
in. embedment is 1-1/2 in.

/4

CONTINUOUS
1X4PT
WOOD SHIM

{= to the sgsh stile with
I #1421/2" wood screw.
i
~
o)
5 ]
'N =
NG
A
v N
¥ % |
~
13 S
-‘\(\‘ —
S~
~ £ §
. o8
o s
L
g 7 5 X
" o~ .
p= =4

Using the steel bracket
PDF—FS-05 screwed to the
frame w/#10 x 1-3/4 screw &

screwed to the mosonry with

:/4 x 2 1/2" Tapcon ‘serew.
in. embedment is 1-1/2

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A—274
DANIA, FL 33004

SERIES $70/83 & 70/114
INSWING
WOOD DOORS
METRO DADE COUNTY

IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.:  MQF70-2D
Scale: Drawn by:
NONE £. Corbeil
Date drawn: Date revised:
09/11/97 09/16/02
File: Page:
DadeZ2in_6.dwg 9 10/27
ENGINEER:
Smwuu,./ REVIEWED B :
IlLIEOus.

TILLIT TESTING & ENGINEERING COMPANY
6595 NW 36th STREET, STE. 217
L MIAM!, FLORIDA 33166

WALTER A. TILLIT JB., P.E,
STRUCTURAL ENGINEER
FL. LIC.NO, 23167

>
-——-——"‘/%/_/'Z%a‘v

@ IMPACT RESISTANT GLASS

G2: LAMINATED GLASS: 1/4" ¢l an.,
0.090" SAFLEX PVB, 1/4” df. an.

(D £POM MIDDLE GASKET L5150

(3 EPDM EXTERIOR GASKET WDI11

(5) HARDWARE SLOT (STD "EUROGROOVE”)

ALUMINUM RAINGUARD FS15S

@3 DECORATIVE WOOD MOULDING

@@ T-SHAPE STEEL REINFORCEMENT
no, AT2528 SCREWED AT 3" MAX.
ofc WITH 2x
EMBEDMENT IS '7/8".

%= CLEAR "SPECTREM 2" SILICONE

SCELLANT AT SHOWN INTERFACES

#8 x1" WOOD SCREW.

PRODUCT RENEWED —%
as complying with the Florigs
e

Buiding Cod.

Acceptance NoO2- {29,
Expiration Datc U’
By
Miam]




Using the steel brocket
PDF-F5-05 screwed to the
frame w/#10 x 1-3/4 screw &
screwed to the masonry with

CONTINUOUS
1X4PT
WOOD SHIM

4" x 2 1/2" Tapcon ‘screw.
. embedr(went ig 1-1/2"

it

n

1/4" Shim space

L-1/4" Shim space @

9 3/8" 6 1/8"
27/8" | 35/8 2 7/8" 2 7/8" 3 1/4" |
‘ INACTIVE

@ FOR DOORS UP TO 96° FRAME HEIGHT

@ FOR DOORS UP TO 139 1/2° FRAME HEIGHT
9 3/8"

6 1/8"
31/4" 2 7/8"

27/8" 3 5/8 2 7/8"

Directly screwed through
the frame to the .
masonry with 1/4" x 3
Tapcon “screw.  Minimum

embedment is 1-1/2 in.

‘ INACTIVE

——2 3/4

13/4" 3 3/4"

DOOR WIDTH—s—smr OPENING

09/16/02

NOTES:

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners & 14" max o/c.

SHIM SPACE:

1/4 IN. @ JAMBS, HEAD & SILL

3/4
"‘DAYLIGHT

OVERALL WIDTH & FRAME WIDTH

/4" 3 3/4" 38" 3 3/4" 5/4

~e—-—DO0R WIDTHﬂL

1/4” Shim space—TT l

—— Steel Bracket PDF-FS-05
Screwed to the buck frame &
to the door frame with

10 x 1-3/4 in. F.H. screws
in. embedment is 1-1/2".

g

OVERALL WIDTH & FRAME WIDTH———

—d Screwed through
the door frame to lsLhe
buck frame with #14 x
3 in. flot head screws.

. Minimum embedment
= — is 1-1/2 in.
(ID L_ E ==
/4 33/4" M 3/4" I
| 1/4” Shim space 2% 4 PT
3/4" 3 3/4" 3/é 3 3/4" 3/4" WOO0D BUCK

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES S70/83 & 70/114
INSWING
WOOD DOORS
METRO DADE COUNTY

IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: - MQF70-2iD
Scale: Drawn by:
NONE E. Corbeil

Date drawn: Date revised:
09/11/97 09/16 /02

File: Page:
Dadezin_7.dwg | - 11/ 27
ENGINEER:

STRUCTVRALLY rEsowd & :

TILLIT TESTING & ENGINEERING CCMPANY
€555 NW 36th STREET, STE, 2°
MIAMS. FLORIDA 33135

WALTFR A. TILLITJR., PE,
STRUCTURAL ENGINEZR
Fi.. LIC.NO. 43167

—— e

@ IMPACT RESISTANT GLASS

G2: LAMINATED GLASS; 1/4" dl. an.,
0.090" SAFLEX PVB, 1/4 ¢l. an.

EPOM MIDDLE GASKET L5150
EPDM EXTERIOR GASKET WD111
(4) ADJUSTABLE HINGE 20-20
(5) HARDWARE SLOT (STD "EUROGROOVE”)

(6) 1/4° x 2° CF GALVANIZED STEEL PLATE REINFORCEMENT NO. AI0650
ATTACHED W/ 11/2" NO 8 WOOD SCREWS @ 16" 0/C
HANDLE
(9) ASTRAGAL WOOD PROFILE HE-448, ATTACHED TO THE INACTIVE SASH
WTH #8 X 1-1/12" SCREWS SPACED @ 14" 0/C (MIN. EMBEDMENT: 3/4")
3/8" x 2 1/2" CF GALVANIZED STEEL PLATE REINFORCEMENT NO. Al1064
ATTACHED W/ 1 1/2" NO 8 WOOD SCREWS @ 16" 0/C

T®=CLEAR "SPECTREM 2" SILICONE SCELLANT AT SHOWN INTERFACES

PRODUCT RENEWED
as complying with the Flori
Buiding Code ¢ Florida




<+
R
>
& < = i~
s R 2 3
. 03 SO0 O
57 mhwmo w
pe 32 | £ 0 8
mm .| Eda I
z5 nZ0
|l w0 ¢
s 20 lw = E
o m w
2 T =
] 7

IMPACT RESISTANT

5o M~
AR
[ 2leQ
2 QfseleXNS
I I R ]
—
e | ole | ols
& r_” Wrr_ 2ol
= o o
o Tla | |o
< = -
<
a ~ 3
M ol 21 o
- o] @«
s 2] w2z 9l &
I Z|23] <l w
< o oe| g1 =
a Els=z ol =
z |2 o). o) O
o |o ~OQly o 2z
Clo |7 {=2] G
sl |a |

3 ul o
) ot
= o Hmnﬁ
B =7
o Bl - 459
1 ¥r
Zxs wdd
gn RK@
<5 GEO
R AWU
ZEx M <
Bes u@d
HE =2l
¢ gk
m 3 U
= -
V) e

-

<5/ 2SO

A WED
Dlying with

PRODUCT RENE'

as com,

the Floridg

Buiding Code

Acce,

E

S
O
]
2
o
P
3

S30VIEINI NMOHS 1V LNYT130S

3NOOMIS € W3ILO3dS, ¥¥ITO <1~

"8/1 SI INING3TN3I
M3IUIS QOOM 1x 8F XT HLIM

/0 XYW 6 LY QIMIYOS grsTLy ou

ININIOHONIZY TI3LS IdVHS-L 9

ONIQINOW JOOM 3AILY¥023T @
SGIS4 QAYNONIVE WNNIANTY @

(.3A00¥00YN3, QIS) LOTS IUVMAUVH
1G0GT 134SY9D HOR3LXI Wad3
06157 13¥5vO 31001 Wad3

W P y/1 ‘8Ad XIS 0600
"up P ..,‘\_ 'SSY19 QALYNIAYY 29
uo P Zg/G ‘wsaa Jsysakiod g0
4 TG0 tiee—eisekied—690

SSY19 INVISISTY LovaRl (D)

2/ 1-1 sl uswpaqua
WNWIUR 'SMaJds posy
108 b/¢-| X Olf
WyiM WD) Joop 3y}
0) % BWDY XoNg Yy

0} pakdnds G0-S4-Qdd— "

< 0/31/80 133oD1g [88)S —_

Sygi\

— P a— A 'y
B/LX 5/8 X 5/5 TONY MONKNY €D _,
TIS ® QV3H 'SEAVE & NI b/ N8 100N 0 -
30VdS WIHS W 7/1-1 S Wawpoaws u dvy Xt > . 5
"0/0 XOW | B SI9UI0D 'SMAIIS Poay o Ul § X ® E=
woij "ul 4/1-G si bujondg Y}M SWDJ) XING BY} 03 SUIDJ) o~ > W
‘SYINILSYS NOILYTIVISNI Joop 2y} ybnouyy E;emwvl 4’ <« 3
: _ . —_ O
S31ON .numrm wN ™~ m =
wl —_— [
7/~ 8l juawpaque uj @ m o . 2 2
‘#8395 uooddy 7/l 7 X ¥/L L= Iq* 8 " “ g
Yum  AJuoSDUl 3] 0) PaMaIdS g w ° = =4 >
R MaJ0S $/C—| X Olf/M owoy % f 2 o - A ~
oy} 0) pamaIIs GO~S4-40d N L a T 1 _H
}9400.q 998 8y} buisp Le) & x 73 |
o~ Hl £ N o
—— = <t pared
WIHS Q0OM £ H 5 > T X
14X 58 5 s - = <
SNONNILNOD N ﬂ S > . |t ™~
NS 5 5 WNOLd0 ~—— | "
— - %) 4 ~ 1
) > N
¥ I~
1 % 52
i =5
4 323
X *
© ]
~L N x
~ =t ~
) W > N M
I~ o
& @ o el — H
e < 8 ™ o 8
B ? R %
y B} 5,
/0§ Jaudod
Jousal _mc.wmw PR -
MaJOS POOM N_W £ iy —
3 g
0, £ - i
. g v ©
Ry [ O, g S
4 N =
© Ll 39vd £ 9} s
n = oswa3s NG =
< ~ 3 ” o
- g 5
M | Py "MAIOS POOM o AHn..
w| |£_8 =t/i g vif /nops = =
g % My YSOS 9} O} spus 21 . £ N ¥
45 = 1 4j0q |0 pamang ¥ NS ° <
) g 4v8 HSYS = I S 9
© & . w3 = I -
- < 1 g ¥ L S ¢
— ) ') EZNS = - e
] = - g " Il e T @0
L b " - ™ I e N
N = ] g n
" 0 Q0OM Ld ¥ X | . =% .
SNONNLLNOD )

313§ uoodoy 7/l
UyM  AJuoSDUI SY) 0) Pamaids
® MO0 §/0—| X OLf/M swoy

.Z/1-1L S juswpaquia ul
(2 ;\u

3y} 03 pame.ds G0-S4-40d

@ 1339044 [98)S dY} buisn

Ul g/1—| Sl Juaipaquis “UIK
'Wal0s uoado) ¢ X B4R

fiuosow 3y} 0} suioy ayy

ybnouyy

pamaios Ajjoalg

®




I Using the steel bracket |
. PDF-FS-05 screwed to the —— Steel Bracket PDF-FS-05 . ®
frame w/f10 x 1-3/4 screw & Screwed to the buck frame & WINDOWS
screwed to the masonry with to the door frame with [ Aot
:/4 x 2 1/7" Tapeon ‘screw. 10 x 1-3/4 in. F.H. screws
in. embedment is 1-1/2 in. embedment is 1-1/2", : 1855 GRIFFIN ROAD, SUITE A—274
; DANIA, FL 33004
SERIES S70/83 & 70/114
e ‘ OUTSWING
1/4" Shim space 1/4" Shim space ! WOOD DOORS
@ FOR DOORS UP TO 139 1/2° FRAME HEIGHT | METRO DADE COUNTY
IMPACT RESISTANT
, PA201, PA202 & PA203
CONTINUOUS DOOR WDTH—=—=  ~—=—DOOR WDTH @ FORDOORS UP T0 96" FRAVE HEIGHT @ 2X 4 PT WOUD BUCK
1X4PT
WOOD SHIM ARG, Drawing no.:  MQF70—2D
” ”» 3 1 4" 3 B" 3 1 4” 3 1 431 3 8" 3 1 4)) 1 ” ”
1347 31/ /4" 3/ / /4" 3/8 / S ANIUR | Scale: Drawn by:
I ] INACTIVE @ ACTIVE [ [ INACTIVE NONE : E. CoTbell.
TE—441 @ . Date drawn: Date revised:
I - 09/11/97 09/16 /02
( : ) N File: Page:
- - hg Dade2out_5.dwg 13/ 27
NN
8 | 8 ENGINEER:
31/4"  7/8°3/4 /a1 31/27 /803 YRS 31/2"  7/85/4 3/477/8" 3 1/4" ' STEo crueAUL REVIEVED A
| - 6 7/8" 6 7/8" 5" I
ILIECO iz,
L 1/4” Shim space 1/4" Shim space —44- TFILLIT TESTING & ENGINEERING COMPANY
6595 NW 36th STREET, STE. 217
MIAM!, FLORIDA 33165
e OVERALL WDTH & FRAME WIDTH ~=——————————OVERALL WIDTH & FRAME WIDTH 3 WALTER A. TILLIT JB., P.E.
STRUCTURAL ENGINEER
. FL.LICNO. 43167
Direct! d through th T orewed through the door P ==
irec screwe rouq € rame 1o € DUCK Trame wi -
frame ytonthe masonry with 14 x 3 in, flat heod screws. YED T
1/4 x 3" Tapcon. Minimum in. embedment is 1-1/2 in.
embedment is 1-1/2 in.
— PRODUCT RE| 3 T
(1) MPACT RESISTANT GLASS (8) /4" x 2 CF GALVANIZED STEEL PLATE RENFORCENENT NO. AIOG50 22 complying r Mt the Boride
NOTES: — - : : —or— ATTACHED W/ 1 1/2" NO 8 WOOD SCREWS @ 16" 0/C Buiding Code
INSTALLATION FASTENERS: G2 LAMINATED GLASS; 1/4" ¢l an., HANDLE
Spacing Is 5-1/4 in. from 0.090" SAFLEX PVB, 174" cl. an ASTRAGAL WOOD PROFILE HE—-448, ATTACHED TO THE INACTIVE SASH WITH
corners & 14" max o/c. . ; o #8 X 1-1/12" SCREWS SPACED @ 14" 0/C (MINIMUM EMBEDMENT: 3/47)
' (2) EPDM MIDDLE GASKET L5150 \ .
SHIM SPACE: 3/8" x 2 1/2" CF GALVANIZED STEEL PLATE REINFORCEMENT NO. Al1064
1/4 IN. © JAMBS, HEAD & SIL | (4) ADJUSTABLE HINGE 2D-20 ATTACHED W/ 1 1/2 NO 8 WOOD SCREWS @ 16" 0/C
(5) HARDWARE SLOT (STD "EUROGROOVE") = CLEAR "SPECTREM 2" SILICONE SCELLANT AT SHOWN INTERFACES




2 X 4 PT WOOD BUCK

—— Steel Bracket POF-FS-05
Screwed to the buck frame &
to the door frame with

10 x 1-3/4 in. F.H. screws
in. embedment is 1-1/2".

——=—FRAME HEIGH

3" #12 wood screw
at 4" from internal
corner & 14" o/c

. S )
t |‘
£ o : =
6 = N
<+
8 X -
2 — o~
I " )
! > l _—‘W{
§ ._"n M
t &2
Lt
3 ]
o 38
¥ N
S =
©
~N
~
™
A 5
<
éh ~
o ™
S = o~
¢2 %
=z ¥ ~ L =
o -~ )
w o ~
S
xS M M~
S 8 .
= N
a <+
‘ i ?
= a3
x
S=Z
=5
=5
3 z
* N
- S~
» )
\ =
0 ™~
SN >
= iy
~N ~
- = —
53T ~ *
gu 3 | |4 <
TIE ~ = (@ —_—~
44 5 . —
< T O S
vy o M
¥ o a :‘t
° x| J
8 " i+ Il = -
J ° 2' ’
hel L
= =4
¥k — =
£8 _ L_
c o
va
7]
'{ 2X4PT
— WOOD BUCK

#—FRAME HEIGHT—=

SEE ALSO
PAGE 17

OPTIONAL
RAIL

®

©

—4 Screwed through the door
frame to the buck frame with

&14 x 3 in. flot head screws.
in. embedment is 1-1/2 in.

NOTES:

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
comers & 14" max o/c.
SHIM SPACE:

1/4 IN. @ JAMBS, HEAD & SILL

09/16/02

Directly screwed through

the frame to_the masonry
with 174" x 3
Min. embedment is 1-1/2 in.

Tapcon screw.

CONTINUOUS
1X4PT
WOOD SHIM

3" #12 wood screw
at 4" from internal

corner & 14” o/c

|

2 3/4"

1/4” Shim space
2 3/4]

5 3/8"

3/4" 1 3/4" 3/4"

SASH BAR:

Screwed at both ends
to the sash stile with
#14 2 1/27 wood screw.

4 3/8"
31/4

1,,1

OF EUROPE AN
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A—-274
DANIA, FL 33004

SERIES $70/83 & 70/114
OUTSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

space

1/4" Shim

+-1/4" Shim space

CONTINUOUS
1 X 4 PT WOOD SHIM

J

Using the steel bracket

PDF~FS-05 screwed to the

frome w/#10 x 1-3/4 screw &

screwed to the masonry with

g/f# x 2 1/2" Tapeon ‘screw.
in. embedment is 1-1/2

2 ALUMINUM ANGLE (3/4x 3/4’x 1/8")

@ CONTINUOUS
1X4PT

WO0D SHIM

—— Usin

the steel bracket

PDF-FS-05 screwed to the
frome w/#10 x 1-3/4 screw &
screwed to the masonry  with

1/4" x 2 1/2" Tapcon ‘screw.
Nﬁn. embeJment ig 1-1/2"

T_I 5/8"T

Drawing no.: MQF70—2D
Scale: Drawn by:
NONE E. Corbeil
Date drawn: Date revised:
09/11/97 09/16 /02
File: Page:
Dadezout_6.dwg| o 14/27
ENGINEER:
Smwmy REVIEWED 641:

TILLIT TESTING & ENGINEERINC COUraNY
6595 NW 96th STREET, STE. ¢
MIAMI FLARTTA 33105

WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER
FL. LIS.NO. 43167
ke

Z

PRODUCT RENEWED

@ wp
Mo B0-PETfim
62: LAMINATED GLASS; 1
0.000" SAFLEX PVB, 1/4

ACT RESISTANT GLASS
A B A

@ EPDM MIDDLE GASKET L5150
@ HARDWARE SLOT (STD "EUROGROOVE")

4" ¢, an.,

cl. an. WITH

no. AT2528

EMBEDMENT 1S

= CLEAR "SPECTREM 2" SILICONE

SCELLANT AT SHOWN INTERFACES

@3 DECORATNE WOOD MOULDING

T-SHAPE SYEL REINFORCEMENT
REWED AT 9" MAX, ofc
WOOD 'SCREW.

2 #8 x1
/8".

as plying with the Fiorida
Buiding Code
Acceptance No 02-01 2!




E)_F— IE_JSsin 5the steeél :)rutcrl:et 9 3/8" 6 1/4"
—Fo— screwe 0 e » ” i » »
frame w/#10 x 1-3/4 screw & 41/2 3/8 41/2 41/2 |1 3/4
?c?yedzt% /tg; Tmosonry with ] ‘ l
X apcon sSCrew.
in. embedment B 1ot /2" ACTIVE INACTIVE |
HE-120 ——-J(O :
L ==
. - 2.
g 8
i 4 ==
HE-431
3/4" 2 1/4" 31/2° ' 21/8" 3/4" 3/4" 2 1/8" 1 31/4" !
TN
1/4" Shim space @FORDOORSUPTOSG'FRAMEHEIGHT @ 1/4” Shim space ‘L |
1/4”" Shim space l
CONTINUOUS @ DOOR WIDTH—= ~=~=—T/]00R WDTH .
1X 4P DAYLIGHT
WOOD SHIM . . 7 OPENING T . . .
3/4 4 1/2 41/2 3/8 41/2
ACTIVE | INACTIVE ?D
HE-453

31/4" T 21/8 3/4
6 1/4" }

+—1/4" Shim space

Directly screwed through
the frame to the =~
masonry with 1/4” x 3

Tapcon screw. ~ Minimum
embedment is 1-1/2 in.

NOTES:

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from

corners & 14” max o/c.
SHIM SPACE:

1/4 IN. © JAMBS, HEAD & SILL

HE-420

GE-074

2 3/4" —4

/4 2174”0 31/2"

9 3/8"

"2 1/8" 5/4

s———OVERALL WIDTH & FRAME WIDTH

1

@ FOR DOORS UP TO 139 1/2* FRAME HEIGHT

—— Steel Bracket PDF-FS-05
Screwed to the buck frame &
to the door frame with

10 x 1-3/4 in. FH. screws
in. embedment is 1-1/2".

OVERALL WIDTH & FRAME WIDTH———

—4 Screwed through
the door frame to ‘the
buck frame with #14 x
3 in. flat head screws.
Minimum embedment
is 1-1/2 in.

2 x 4PT
WOOD BUCK

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES S70/83 & 70/114
OUTSWING
WOOD DOORS
METRO DADE COUNTY

IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.:  MQF70-2D
Scale: Drawn by:
NONE E. Corbeil
Date drawn: Date revised:
09/11/97 09/16 /02
File: Page:
DadeZout_7.dwg 9 15/ 27

ENGINEER:

5n£auvum1 Reviewed B :
1
M ECO e

TILLIT TESTING & ENGINEERING COMPANY
6595 NW 3gth: STREET, STE. 2°
L MIAMY, FLORIDA 33165

WALTER A. TILUT JR,, P.E,
STRUCTURAL ENGINEER
Fi. LIC.NO. 43167

W

-’?' 25y o~

09/16/02

@ IMPACT RESISTANT GLASS

62 LAMINATED GLASS; 1/4" dl. an.,

0.090" SAFLEX PVB, 1/4" . an.

@ EPDM MIDDLE GASKET L5150

(® ADJUSTABLE HINGE 2D-20

(5) HARDWARE SLOT (STD "EUROGROOVE")

@ 1/4" x 2" CF GALVANIZED STEEL PLATE REINFORCEMENT NO. AI0B50
ATTACHED W/ 1 1/2" NO 8 WOOD SCREWS @ 16" 0/C

HANDLE

ASTRAGAL WOOD PROFILE HE-448, ATTACHED TO THE INACTIVE SASH WITH

#8 X 1-1/12" SCREWS SPACED @ 14" 0/C (MINIMUM EMBEDMENT: 3/47)

3/8" x 2 1/2" CF GALVANIZED STEEL PLATE REINFORCEMENT NO. Al10G4
ATTACHED W/ 11/2" NO 8 WOOD SCREWS @ 16" 0/C

~B=CLEAR "SPECTREM 2" SILICONE SCELLANT AT SHOWN INTERFACES

PRODUCT RENEWED
as complying with the Florida
Buiding Code

Acceptance No,
Expiration Date




Lo~ 3 z ul
<+ =0 = g
I I 2 | 2] 328X ) 2 Of 3
e .5 ., 53 |alP8lEge 9 oz €25 frs S
s | Ro@ 322 [ 2005 § 13258 pg= rs E
@ 23 | ®2Q She | L |54[E°|g 5 |ioliEs Mma.. 8t 3
2858 wgy |Sle 18 § |inl2E3 Jh¢ £: INe
23 o S <Xy = o wW=69 Fg2 Sa 3
m cs | SEQ 5.2 3 WI =ISED! G g3 2 z
zz | VDO oo . N 8= q X gz Y
s E2 | 000 22 - 13| |58 9| & § |Fig=d =B FEEENF
S I R T R T I zox e gexi
@ e = < | 2| 55 2l = w o 2 85%%
Ire] ] o Elgz NI = o paS's o m n3S
© %] z |2<]|e3].5]1 @ M 5 <k 2R <
°18 |z 22| & = zw
& |l [ [Eo] W ] =
SIOVIYILNI NMOHS 1Y LNYT7308 (.3100300413, 01S) 1075 3UYMAXYH(S)
NOONS T WIULOIAS, YVITD == 05191 IBASYO 300K NO (D) 7/1-1 81 Juaupaqus
b - . : “7/1-L 8!
“8/L 51 ININGITN3 vy R /) 8Ad XTYS ,060°0 Uty “sHas poay < g3
NR0S 000R "I% 9 7 Auly o) W P /L5519 CALYNIV 29 04 p/e-1 X QI NG5
XYW 6 LV 0IMI¥IS 825zZLy ou Ypm SWDJ) Joop 8y} —wn

IN3FIDH0INZY TIAUS 3dvhs-L FD)
ONITINOW GO0 3ALLY40030 €)

7¢/6 ‘uisal saysehjod 9o’
d D0 —uiseseyseRiod 095/
SSY10 Fzﬁ.m_mux 5<n_z_©

1/6E, % BWDJ) HING 8y}

0} aMaLS GO-S3-(id — -
14001 o915 —

115 ® QM S © N /L (871 X3/5 X5/5) TONY WONIAOTY €)
lllllll o L]
30VdS WIHS N _,
/0 XOW y| B SPUIOD u g/1-1 S juawpaquia Ul HNG Q00OM ™~ N
wol vl 4/1G s buwodg s poRY J0y Ul € X P ldyxe o8
‘SYINZLSYS NOWYTIVISNI @% ooEot mv_%o:n u;wswﬂbuva -1 b=
)
310N p 2y ybroiyy p wm MW
2 b —w._
L0/ 1=1 Si juswipaguis "uj - - @ R o] o
.;Eum _._oanw AR ..L‘\A_ . © W m =
ym Auuospuwr Suyj o0y pemsios ~ &
B MOOS y/0—| X Ol#/H swoy i - — v/ez— | s
8y} 0} pamads GO-S4-40d 4 T WHG o~ “
194004q [38}S 8Y) buisp + o T !
g - y ~ _\_ -4
[ o < o
3 WHS aoom g g <x - .
dy Xl 2 - % Ry ,
2 SNONNILNOD R > " %
S 5 2, @ Wy ” - N
- T o N WNOLLdO ——1 2l |»
~N © - FIRS S 1
= - < NG Ed
- N
& Ry #2030 £
0 g D) 3=
— ~N sia
1 © bty . $£0-30 =5
N %
5, Lo £} 39vd I S =
~ NN osva3as ” h s
- - RS o £ .=
) ~N N
* = = 8%
NN 4 - &
S % N S +
™~ ~ = o~ w
o) ~ o I < a
o~ M _....,_u..
.;Muum poom u4. \ A N
/LT vl /MRS 2/0 p| B JBuI0d R
@ \;mow ay) mu spus P jouiaydl” woyy 4 3o :/1./:.] o~
yyoq d.o PamaLg L0 Mouos poom Zif ¢ R y; |
yvE HSYS = M WW
e s
¥L0-39 ks = - 1 ©
3 R g |7 = S
~ = = >
it o L1 0 & s h )

N [reg b ol —
| 1F L1 g o N 3 > &
= u @\ & 9 o - £
S 7 + 3

A =<
© =
" Y o - S * . g
B = - N o o
4 NS ~ © ~ Q
N~ b 4 [ M-— S
~ I = S o o
. g > > g . N
X o] | - s O gl E
© - N £
I N F I &
v 4ol = i %) <
N E= - % ~
Lt -~
~
L/ L
¥£0-39

—| SI juswpaqus “ul
.;&wm_cowaﬁ N\w M X /1

AIHS QOOM Id ¥ X |
SNONNILNOD

yps  AJUOSDUI 8Y) 0} Pamaids
R MaIS $/0—| X Qlf /M swpy

3y} 0} pamalds G-S3-4(d
19%204q 199)S Ay} buisn

Ul g/1=| S| JusuIpaquis iy
‘MaI95 uoddD) € X /| im
Aiuosbw ay} o} suipy ayy
ybnoayy pamasos Apdsuig

Mo




HORIZONTAL MULLION

NOTES: 1L e
VERTICAL MULLION FH= FRAME HEIGHT ®
|t ., » - OF EUROPE AND
M Transom 3" wood screw #12 at 4" from . . FW= FRAME WIDTH THEAMERICAS
: » Right Frame Stile Left Frame Stile
[h i Frame Sit internal corner and 14" o/c. . g In standard applications, 1885 GRIFFIN ROAD, SUITE A—274
-~ :::: ::H Minimum embedment is 1-1/2" N —_______ = ________ \ sidelites and transoms are DANIA, FL 33004
\ screwed at the factory,
} &f A ) in special cases, job site SERIES 70/83 & 70/114
| = r instaltation could be done. INSWING & OUTSWING
[ | Tt it I_J In this case, holes are WOOD DOORS
| u | 1 }—J’— 3 pre—drilled at the factory MULLION
[ g [ € \ | and screws are included. SIDE BY SIDE INSTALLATION
Z * lJL———— _ Wood = Mahogany METRO DADE COUNTY
T PA201, PA202 & PA203
g < E < Drawing no.: MQF70—2D
| | el Scale: Drawn by:
: | o~ Sidelite Frame Door Frame NONE S. Marcotte
| J———J l — - Date drawn:  |Date revised:
| - . 11/26/97 07/22/98
I - - - bl File: Page:
L‘\Jl— Door —4 5/8" — Coup2D_1.dwg 17/ 27
Frame Header ¢ E ENGINEER:
S70/83
3 nswine 6269
- $70/83
\ OQUTSWING @®@®
W S70/114 SR, REViewe) ¢
\\\‘ \\\ Transom Frame iNswing I35 7 1
. S70/114 { “TiiiEcom. !
147 e ” 12" e . 5, ouTewne CXEXEES ILIECO me.
L — [ - TILLKT TESTING & ENGINEERING CQMPANY
~ 6535 NW 35th STAEET, STE. 2"~
7 r 1 e % MIAMI FLORIDA 33165
[
. WALTER A. TILLIT JR,, P.E.
z : STRUCTURAL ENGINEER
= 3 . Fl.. LIC.NO. 43167
\“ =
f $70/83 i N\\ 7z
~inswine (X9 .
| _S70/83 NG <+
\\\ ouTswing Q)ENEIES Door Frame . -
\ S70/114 PRODUCT RENEWED
— |NSV¢NG @@@@ E ?f:gnpl‘);?é:eﬁththcﬂodda
uiding
L_S70/114 Acceptance No.02-0,
\/ OUTS/WING X060 -— i ?—'—l abitation Da
<

-—

MAX. Fw= 72"

-~

= CLEAR "SPECTREM 2" SILICONE SCELLANT AT SHOWN INTERFACES




% 2 3/47
S 11/2" 2 3/4” L@ WINDOWS ®
11/2° 2 3/4" . 3 e Aitcas
o~ .
/@ k) > GE-074 1855 GRIFFIN ROAD, SUITE A—274
~ ~ GE-074 R DANIA, FL 33004
CE-074] . - : m N
<+ —e . =
% - I . 3y ~ N " ) SERIES 70/83
N 5 T ® S - e N0 . © INSWING
- (? ¢ Bl | v v . R = WOOD DOORS
- JOJINIS X N P 3 Y ow
: o 5 w0 ISl G PN MULLION
I|_ - J - S © A X " SIDE BY SIDE INSTALLATION
" < ol > - - e
~ Zd = 3'1 ’_ ) o) § 1 N =+ METRO DADE COUNTY
. T ¥ w N N X 2 . > PA201, PA202 & PA203
< g - > ~ w AN
~ ( N R — iy — = 5 — - . . _
> L v |w 2 ~ Y L N y Drawing no.. MQF70-2D
GE-074 0 S Tx > J - ~ Scale: Drawn by:
_ S 0 = N ~ 1/3=1 S. Marcotte
GE-074 = 0 Date drawn: Date revised:
e ‘ GE-074 GE-074 07/22/97 09/16,/02
- o 1 File: Page:
A a— 2 3/4 20 2.0wg| % 18/27
15/8"17/8" 13/4"17/815/8 13/16" 2 3/4 11/2" 2 3/4
@ ENGINEER:
~ @ 17/8"1.3/4"17/8" 17/8" 13/4"17/8"15/8"
© |
< HE—433 HE-432 .
> 1 15/8" —\| 0 B STROCTOE ] REVToweD G :
2 HE-401 ((‘D HE-401 N > S &
¥ B o — L — hLiEco: - -
DI 2 2 - i HE-439 13418 LI TESTING & ENGINEERILG Gy
s ; th STREET, STE. 2-
o @ 5 : 5 7 HE-401 W - . L MIAMI, FLORICA 33165
< e k™ -
@ [ | 5 g = S WALTER A, TILLIT JR. P&,
* wt -t - 3 U L ENGIlED
/4202 T2 T2/ 5 5 | ¢ .| | T LIGNG Aoy
17/8" 1 3/4" 1 7/8" , ==
{ /4" 2 1/2" 11/8" 27 3/4) /4 27 11/8" 21/2" 3/4 7 >
(3 7178 71/8
Q 3 \
HE-412 HE~-413 monucrkmewag n:
B s complying with the Flo
3 (@) (D) IMPACT RESISTANT GLASS (5) HARDWARE SLOT (STD. "EUROGROOVE") Eufd;ng Code . o4
5 A oL A ste tance N R
o~ E. = et I 001602 /N cecin, 016 PET firm—060-ne _ ALUMINUM RAINGUARD no. FS15S piration Dare Zo06
& N @ B2 LIMNATED CLASS e @3 DECORATIVE WOOD MOULDING By, g
. o . ) - an. f Miamy?Dade Product Control
T-SHAPE STEEL REINFORCEMENT no. AT2528 SCREWED AT 9" MAX. la -2/
7 A}. 1 R (2) EPDM MIDDLE GASKET L5150 o/c WTH 2x 48 xI" WOOD SCREW. EMBEDMENT IS 7/8". Diviglon
" 2-3" WOOD SCREW AT 4” FROM INTERNAL CORNER . ,
51/2 @f“ 14 oo, MMM ENBEDMENT 1S 11 /2" TB=> CLEAR "SPECTREM 2" SILICONE SCELLANT AT SHOWN INTERFACES




5 1/2"

3/4"

11/2" 2 3/4" 11/27 2 3/4"
O ] J N0
CE-074| . g N . GE-074] .
© " I " 0 ) N
N i 17 ¥ N i 1
- @ R SOYF i b - (? 2, 7O |
Py V g ™ 2 2 o~ y B N
N \\ 2 < NI R
> g S ol } > — N o™ —
- o~ . (& .
. Z § VR v i Y
0 o~ o
> é ;l R i ) ™~ . :F )
d T Y ~ R 5 S|
- < > S ] S £
GE-074 " © " I @ <
I~ ] N~
:
GE-074 R CE-074 5,
N
5 g
%) M
2 3/4" 13/16" 2 3/4" 13/16"
8 3/4 / / /
31/ 21/4 31/4

GE-074

2 3/4"

/8

17/8"13/4"17/8

2 3/4" | 2 3/4" 7/8

34

3/4"

7 1/8"

V2 3/4m /8

2"

/4"

17/8 13/4" 31/27
HE-441 f
+
S~
)
-t
= o~
el
X
utd
7/8 3/4"

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83
OUTSWING
WOOD DOORS
MULLION
SIDE BY SIDE INSTALLATION

METRO DADE COUNTY
PA201, PA202 & PA203

Drawing no.: MQF70—2D
Scale: Drawn by:
1/3=1 S. Marcotte

Date drawn: Date revised:
07/22/97 09 /16 /02

File: Page:
Coup2D_3.dwg 9 19/27
ENGINEER:

STRve R Al ReVieWwED &4

| TILLIT TESTING & ENGINEERING COMFANY

6595 NW 36th STREET, STE. 2"~
MIAM!. FLORIDA 33165
WALTER A.TILLIT JR. P E,
STRUCTURAL ENGILIR
. Fi. LIC.NO., 457157
T
G{/Z/ﬁ) T

3/4”
|
34| 780 23/40 | 2 g4
71/8" @
(D) MPACT RESISTANT GLASS
06/18/02 ; : i)

®

G2: LAMINATED GLASS; 1/4" ¢. an.,
0.090" SAFLEX PVB, 174" dl. an.
(2) £POM MIDDLE GASKET L5150

@QZ—S" WOOD SCREW AT 4" FROM INTERNAL CORNER
14" o/c; MINIMUM EMBEDMENT (S 1 1/2".

(5) HARDWARE SLOT (STD. "EUROGROOVE™)
(@3 DECORATIVE WOOD MOULDING
T-SHAPE STEEL REINFORCEMENT no. AT2528 AT 9" MAX.

ofc WITH 2x #8 x1” WOOD SCREW. EMBEDMENT IS 7/8”.

—B= CLEAR "SPECTREM 2" SILICONE SCELLANT AT
SHOWN INTERFACES

A}

PRODUCT RENEWED ™%
as complying with the Florida
Buiding Code

éccfpnmce NoO2-01




© 1 €
GE—074 . GE-074 =, 5, WINDOWS ®
— I = ~ ~ EA vty
: T -1 . 3 ¥ LT " o
2 s ¥ T Wy . 1855 GRIFFIN ROAD, SUITE A—274
~ B : : i >~ > . %o . DANIA, FL 33004
" S 0 " @ (@ 5 N X
(? e " = 0 SERIES 70/114
o e it N i+ o s INSWING
NN ] Pm > . . . =t WOOD DOORS
~ M — N
NI ] = ” g o - MULLION
% 3 . i =) K3 SIDE BY SIDE INSTALLATION
= é -2 3/4" 4 IS ” N i " METRO DADE COUNTY
- - ™~ — PA201, PA202 & PA203
N =) ) % - »
h e -
" d 2 - . g % Drawing no.: MQF70—2D
- @ <
- N ° > Scale: Drawn by:
GE-074 ) N N " 1/3=1 S. Marcotte
1 “@Q - Date drawn: Date revised:
2 " v 07/22/97 09/16,/02
o~ File: Page:
” Coup2D_t.dwg| o 20/27
31/16"  13/4" 31/18" ENGINEER:
(&N 27/8" 17/8"13/4 31/16" 31/16" 13/4"17/8" 27/8"
N
HE-410 | HE-411 - e STRUU VLAY LEViawsd S :
S (%) N
P L b . ! NLlECO . |
- — - ‘
5 ~ 5 HE-40 HE-432 TILLIT TESTING & ENGINEERING GOt ANY
o ! o @ = 6595 HI 36th STREET, STE. £~
& ! L |®  — — Sl | HIAML FLOPIDA 33165
-+ el
3/4 33M6" | 33/16" 3/4° s S WALTTR A, TILLIT JR, P.E,
woow . STRUCTURAL ENGINEER
[ & N o 2’330
® Fi. LIC.NO. 43167
27/8" 17/8"13/4"17/8" 27/8 | e T~
T oo
33/4 1178 33/18" 3/4] /4 33/16" 11/8" 33/4  3/4] Vha il
9 9/16" 9 9/16"
%
PRODUCT RENEWED ™
as fyi i
(7) IMPACT RESISTANT GLASS (5 HARDWARE SLOT (STD "FUROGROOVE”) Buiding Coae 1 ¢ Forida
G SAFETY PLUSGHASS 5732 dhm, 860 polyester~ (3 ALUMINUM RAINGUARD no. FSI5S 0
62 [AMNATED GLASS; 1/4"'dl. an., (i3 DECORATIVE WOOD MOULDING
0.090" SAFLEX P\, 1/47 dl. on T-SHAPE STEEL REINFORCEMENT no. AT2528 SCREWED AT 9
(2) EPOM MIDDLE GASKET L5150 MAX. o/c WITH 2x 4B x1" WOOD SCREW. EMBEDMENT IS 7/8"
(2) #12-3' WO0D SCREW AT &' FROM INTERNAL CORMER —T= CLEAR "SPECTREM 2" SIICONE SCELLANT AT SHOWN
& 14" o/c. MINMUM EMBEDMENT IS 1 1/2". INTERFACES.




GE-074

574
5/4"

3 1/16”
HE-411

5 5/8"
l

41/27

CE-074 .
n
= ~N
= - o
0 ]
- o]
~ E- | N
= i ©
Lo} Q ~
M
L ¥ Of I
sy -
~ g . N
0 >
> o M
=
M 1 -
= NS
>
GE—074
31/16" 13/4"  31/167
HE-410 [ HE-411
Y (4
B e T
~+ ~
5 o g
3| L
- |
/8 3306 | 3306 374
1 1/4"
41/2" 21/4 4 1/2"

3/4"21/8

»
T

2 3/4" | 2 3/4

"2 1/8" 3/4"

31/18 o"

N
~
-+
~
Q
o
N ~
. ™
e 'e)
<
o
(o]
7 ©
2 N
w ~M
< )
” T
X
0

41/2"

574

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/114
OUTSWING
WOOD DOORS

MULLION
SIDE BY SIDE INSTALLATION

METRO DADE COUNTY
PA201, PA202 & PA203

Drawing no.: MQF70-2D
Scale: Drawn by:
1/3=1 S. Marcotte
Date drawn: Date revised:
07/22/97 09/16 /02
File: Page:
Coup2D_5.dwg| o0 21/27
ENGINEER:
Srﬂua-uMuv Leviewed 8y .

TILLIT TESTING & ENGINEERING COMPANY
6595 NW 36th STREET, STE. 2°
MIAMY. FLORAIDA 33173

WALTFR A. TILLIT JR.. P.E,
STRIICTURAL ENGIMEDR
Fi. LIONG. 47107

— o

PRODUCTRENEWED ~\
as

(1) IMPACT RESISTANT GLASS

G2- LAMINATED GLASS; 1/4" dl. an.,
0.090" SAFLEX PVB, 1/4” . an,

(2) EPOM MIDDLE GASKET L5150

(@) 12-3" WOOD SCREW AT 4" FROM INTERNAL CORNER
14" o/c; MINIMUM EMBEDMENT IS 1 1/2".

HARDWARE SLOT (STD. "EUROGROOVE")
DECORATIVE WOOD MOULDING

T-SHAPE STEEL REINFORCEMENT no. AT2528 SCREWED
AT 9” MAX. ofc WITH 2x #8 x1” WOCD SCREW.
EMBEDMENT 1S 7/8".

—B= CLEAR "SPECTREM 2" SILICONE SCELLANT AT

SHOWN INTERFACES

plying with the Florida

Buiding Code
Acceptance No 0 2-0




— | - 0.236 0.315
g <+ L —0.375 .
IN C S) 0.472
S @ L5150 g NOTE: As 55N, when B — &
i compresse elween
EPDM Middle Gasket 0.375 astragal & active sash UL Lj /_811987 THE AMERICAS
0.197 R = ’ 1855 GRIFFIN ROAD, SUITE A-274
(3) WD111 EPDM Exterior Gasket 5 — F—oa97 DAniA L 53008
— b 0% SERIES 70/83 & 70/114
Al0650 Al1050 b—1.024— INSWING & OUTSWING
Reinforcement Steel Reinforcement 0.925 , 0.453 . ) WOOD DOORS
@ ™7 gE'O?:j kG'GZ'”g Bfeodwford 1P'”' | ACCESSORIES & HARDWARE
ass ICKness or tor
A 00d Fane METRO DADE COUNTY
~T1-0236 IMPACT RESISTANT
© . PA201, PA202 & PA203
S < - ° 0.236 0.315 —
- rawin no.: —
NOTE: Yield Point of the S 3 3 T 0.984 9 ro: MQF70-20
reinforcements: 47,000 psi B | o —1- L o118 Sccule:1 1 Drovévn Fbyt'
o . = . Fortin
| ? \ —0.197 Date drawn: Date revised:
\ "~ '\ ~—0.197 08/07/98 -
. . File: :
Wood Mouldin L FS158 Aluminum Rainguard [ ~—0.236 ||2eD_A&H.dwg Page: 52 /27
9 0.250 |
1.967 0.375 o/c, 5/32 in. x 1 in. ] )
GE-074 Glazing Bead for 1/2 in.
- J Glass Thickness
\ @ REFERING TO CROSS SECTIONS DRAWINGS OF THIS SERIE
snwcwau.‘/ teyiaved By
© PART #| QTY. DESCRIPTION MATERIAL DIMENSION LOCATION
3’? Q @ Lf depends on|Briigman, Push—in middle gasket |EPDM 3/4 in. x 1/4 in. Continuous groove around entire perimeter =
- hnd Sash perimeter | no. L5150 of ACTIVE SASH. Continuous groove on | TILLIT TESTING & ENGINEERING CCMiaNY
L — top rail, bottom rail and hinged stile of 6595 NW 36th STREET, STE. 2°
< IN-ACTIVE SASH | MIAM!. FLORIDA 33163
4 i 1 I Lf depends on| Atlantech, Push—in exterior bulb |EPDM 3/8 in. x 3/8 in. ACTIVE & INACTIVE SASH: Along hinged stiles] a#7"~~7 A, TILI -]
@ Sash perimeter | gasket no. WD111 ASTRAGAL PROFILE:  Along the ﬁroﬁle, \Q v SRZLLEI-&&J?\SE?S-
1/4 between astragal and active sasl ~ ‘F’ LIS.NO &'-Hé? =
—t ® 1 per inactive | Additional Reinforcement AI0850 |Galvanized Steel [2.0 in. x .250 in. Located in a notch cut in the locking Db
b ou— 6" 0/C sash éISIId(g()ZO, It?]nghjz 1t2' in. Iehss;1 bt stile of the IN-ACTIVE sash. v L
old drawn an inactive sash heig 2 25y
EBOXX (® 1 Rainguard no. FS155 Extruded Al. T5|1.476 in. x 1.378 in. |Located on top of frame sil 722
- 1 per inactive | Additional Reinforcement A1050 |Galvanized Steel [2.5 in. x .375 in. Located in a notch cut in the locking
sash AlSI C1020, lenght: 12 in. less stile of the IN-ACTIVE sash.
Cold drawn 3
o @ 1 per mullion | Decorative continuous moulding Mahogany wood | 1-3/4 in. x 1-1/2 in. [ Nailed olong the entire length of the mullion; :rggmff:f:ﬂ"m:
placed on top of the T—shape reinforcement Buiding Code
& 2% #8 x 1" g
N X X . N . . . N .
- 1 per mullion | Welded T-Shape reinforcement Galvanized steel{1 1/4 in. x 1-1/8 in. {Screwed dlong the entire length of the mullion
: \_ wood screw P no. AT2528 g AISI C1020 / / at 9" mox. og/c with 2x #8 g 1" wood screw. ¢
. th 2 ¢
83/16 screwed @ Cold drawn Embedment is 7/8".
hole 9 max o/c

GE-064

1 per glass
edpe °

Glazing bead (for 1 in. glass
thickness & for wood panel)

Mahogany Wood

3/4in. x 1-1/2 in.

Nailed through the sash frame at the glass
or wood panel perimeter

AT2528 Steel Reinforcement CE-07%

1 per glass
edge

Glazing bead (for 1/2 in. glass
thickness

Mahogany Wood

3/4 in. x 1-1/2 in.

Nailed through the sash frame at the glass
perimeter




5

e o
= 8
=t

=z 33?% ‘\\\
=

| o7

2.066

Q Wit it

O

(1) 2D-20 Adjustable Hinge

HINGES SPACING
FRAME ~ QTY: DIST. 0/C
HEIGHT FROM MAX.
UP 10 CORNER
481/8" 2 s1/8" 27"
69 1/8" 3 61/8" 27"
9% 1/8" 4 61/8 27"
1391/2" 5 61/8 30 3/8

NOTE: REFERED TO AS @ IN THE CROSS

SECTIONS DRAWINGS OF THIS SERIE

0.098 . 1.181
0.591 , 0.591
Phillips,

o #8 x 1-3/4"
© | —wood screw
0 to window
° 2 T frame

L4

~
~ RO.079 8
" Y
" % RO.158
= R0.079
N —+
o) J* \)»\
: ]
e Phillips,
e #8 x 1-3/4"
wood screw
Kl to buck frame

b |

0.197 0 0.481

T
.352—l

s
LO.348

(3) PDF-FS-05 Installation Bracket

OF EUROPE AND

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
WOOD CASEMENT WINDOW
& WOOD DOORS

ACCESSORIES & HARDWARE

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF70-2D
Scale: Drawn by:
1=1 E. Fortin

Date drawn: Date revised:

08/07/98

Pageins / 27

File:
70_A&H.dwg

ENGINEER:

Smauuuu‘/ teviewsd Ay
TILIECO .

TILLIT TESTING & ENGINEERING COMPANY
6585 NW 36th STREET, STE. 2~
MIAML FLORIDA 33165

WALTER A. TILLIT JR.. P.E,
STRUCTURAL ENGINEER
Fi. LIC.NO, £3167

TABLE 1

PART #| QTV. DESCRIPTION MATERIAL DIMENSION LOCATION
1 Refer to Simons Werk Gmgh, {Bichromated Steell3.346 in. x 2.538 in|Refer to Table 1
Table 1 Adjustable hinges open in x .2.324 in.
no. 2D0-20 tainless ?teel
open out
2 2 per F.H. Wood screw Galvanized steel {#8 x 1-1/2 in.
hinge
3 Depends on { PROTOL, Installation  |Galvanized steel {3.101 in. x 1.181 in. {5-1/4 in. from corners & 14 in. max. o/c,
frome size |Bracket no. POF-F5-(5 x 0.197in. t. between framing member & buck frame.




N~ .
5 oy
m < @ M () £13 Ml . 2
| - = =-.8 N | wT|e ~ Qe [ ¥
® < 05 =91 2283 1« Snie re
20 3 3za “e Qi E g
B ~Aa W 3= Ole . £ 9 =5 E N 4
358 = ~Nl3uwlo [ LS s ot © S
28 | 8 A Sas | ~M|FYLE (o W He O M
sl g9 R wlg |ols [8 |& w 245 BE & E
® | RO 3 2 oES zE 9 3
£ H e o w < = 599 €% o &
wM Xl ==20 °5% ol © wh= L F TN
i 2|92 ¢8 S| S 3| 3| g g2z TR EANCE
2 B | LSS D25 | | wiEnl 2|6 EEZ BEEER
c |lE2g 252 | o| Z[58| 8| u B 52 gi3ls
a won J o 1.9 Il = =g i3%
8 nZ 3 [8%)|ew].a] @ =
= = s |3 |g°[«R] 2 3
sl |2 |& w s
1
]
|
1
"SNVY4 3HL NO A3INNOW "SNVYd 3HL NO Q3LNNOW
Y3d33NH ¥ OLNI ONIMOOT HOV3 ¥3d3IIN V OLNI ONIMOOT HOVIE
‘W3L1SAS %0071 INIOd N33L41d [ 'WALSAS MO01 LNIOd XIS
1N3A JAILOV m IN3A IAILOVNI
3
1
|
b
(pajunows apis ajoboiyso)
*S|i}S Jajusd uo | 'HSYS JALLOVNI U0 v/N [89}S pajpwiolyd—Ig ajpupy adh} Jaas7 ‘0JM34 l <]
Ao Apw ysDS By} Jo WON0Q By} 0} aADRS Jybiay sy af1s (payunow mmct:mv
"3J1}S J3jU8d UO | "HSYS JALLDV U0 v/N 3jpuoy uo spuadag ajpupy 3dA} JaAsT ‘00M34 i 8
*J3Ul0d Wo}}0q £-0—-00—-¢90¥Z-9 "ou
uo | pup Jauiod do} U0 | ‘HSYS IALLOVNI UQ v/N je9ls pajowoIy)-1g Jaul00 UOISSIWSUDI] ‘0JY34 z ’
"J3UI00 £-0-00-65y.¢—-9 U
Wo}30q UO | pup Jeuiod doy U0 | ‘HSYS JALLDY UQ v/N j993s pajouoy)—Ig 18100 UOISSIUSUDI] ‘0)Y3d z 9
£30-80-9/6¥Z-9 ou
‘]S J8jusd U0 | 'HSYS JALLOVNI U0 v/N [293s pajpwiolyn-ig wsjuoyoaw bupooT ‘00Y34 l S
€-0-00-65¥LC—9 "ou
9IS J33usd U0 | ‘HSYS JALLIV U0 v/N [983s pajpwolyn—g wsiuoyosw woo Bunpo] ‘034 l 14
IDJ WoYoq  uo | puo [ios doy uo | :HSYS JALLOVNI £-0-00-6629¢—9 "ou
D4 WOYI0q U0 | pup [1od doy uo | HSYS JAILDY v/N 1o3)s papwo.y)—Id 10q Y}M WD UoISUIXe ‘0JY3d ¥ ¢
‘3|ys Lw:%o uo |
UD ‘jipd Wopoq uo | ‘b doy uo | :HSYS JALLOYNI .
pue .—o___ym 19)UR0 Uo | £-0-00-05900-8 "ou
PuD_‘§bJ Wo3j0q uo | ‘oJ do} uo | :HSYS ALY ¥/N 199)s pajpwoJyy-ig 3109 noyjik WU uoisusixe ‘0Jy3J 9 Z
‘1D WoRoq uo ¢ puo Jiod doy uo ¢ :HSYS JALOVNI
‘9|1}S J9Jusd UO § puD .
los Wojjoq Lo ¢ ‘yos do} U0 ¢ HSYS JAILDY v/N 19838 pajowosyd—ig | £-0-00-225L2~9 ou Jadesy ‘003 ¥4 L
NOILYOO1 NOISNIAIQ IVIM3LYWN NOILdI¥IS3a "ALD # 1yvd




HORIZONTAL
MEMBER

[V] GLUED FACES @

MULTI-FORKS ASSEMBLY

VERTICAL
MEMBER

NOTE: ALL FRAME CORNERS

ELEVATION
Inside View

&_Frame Stile
I

"OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274

DANIA,

FL 33004

SERIES 70/83 & 70/114
WOOD WINDOW & DOORS
CORNER CONSTRUCTION

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

i Drawing no.: MQF70—2D
Scale: Drawn by:
™~ NONE E.FORTIN
Date drawn: Date revised:
08/07/98 _—
File: Page:
70_CORNER 25/27
| ENGINEER:
Sash Bar 37zuc1uzm4.y Aeviewed By :
L Sash Bar TILLIT TESTING & ENSINEERING COMPANY
6525 Nyw 36t STREET, STE. ¢°
\J I WIAMU FLAR'DA 331732
WALTER A. TILLIT JR., P. E
STRUCTURAL ENG! R
Fl.. LICKO. 4311
SASH BARS ASSEMBLY \:/b\‘
f,a‘/in)&’:r
NOTE: SQUARE CUT AND SCREWED
PRODUCT RENEWED ‘
B’nldlnrlé g with the Florids
PART # QTY DESCRIPTION MATERIAL DIMENSION LOCATION g Code
As needed| Resibois 222 Glue At shown interfaces.
@ no. 30222-01 type 1 N/A
exterior wood glue
2 per F.H. Wood screw Galvanized steel #14 x 2-1/2 in. {Through the frame stile to
@ muntin bar the center of the sash bor.l




OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

630 ., 590 1.536
1 T
SERIES 70/83 & 70/114
+/2.039 +/-.039 WOOD DOORS
__‘___,_,_,_@ GLAZING METHOD
METRO DADE COUNTY
IMPACT RESISTANT
- PA201, PA202 & PA203
e}
Ire} b %
’ % ) Drawing no.: MQF70-2D
GE—-074 Scale: Drawn by:
b e J 1.5=1 E. Fortin
™~ Date drawn: Date revised:
o | 11/10/98 09/16 /02
File: Page:
@ 2D_glaze.dwg 9 26/ 27
/\/ ENGINEER:
WITH LAMINATED GLASS STRoCV ALY REVIEWED & .
TILLYT TESTING ENGINEERING COMPANY
65235 NW 36th STREET, STE. 2*7
MIAM!. FLORIDA 33165
FRA.TILLITJR,, P.E,
‘'TURAL ENGINEER
ASNGL 2515
PART # QTY. DESCRIPTION MATERIAL DIMENSION LOCATION < >
09/16 /02: sout Sip o
&\_ 1 1 lrmpaet-registant 5/32im—Anredled—glass—& -551in—Glass-bite 3/ H6—in—fremglassrebate
- pae 7 g 7 9
"Q(M‘Afy Plus” glneq 0.060 in. Polyester resin, both Refor—to—Table2|
TABLE 2: sides of 0.10 in. PET Film.
2 1 Impact resistant 1/4 in. Annedled glass both sides [0.551 in. Glass bite] 3/16 in. from glass rebate A
w&‘m TYPE OF GLASS MAX'in',JERL MA[)éq?tR]E A Laminated glass of 0.090 in. Soflex interlayer. Refer to Table 2 ronmnfgft‘:fgaﬁ:
62 LAMINATED GLASS, Saflex .090 3 Depends on |SENCO, nails Galvanized steel 1-1/4 in. 2 in. from corners & Buiding Code
174 ¢l. an.+ 0.080 +1/4 . an. 312 2.0 frame size. gauge 16 10 in. o/c. Qf'fﬂ,';f,'.i‘;?z !
WP: 173/4 RAISED WOOD PANEL 151178 883 4 As needed. |Dow Corning 995 Silicone N/A At shown interfaces. By,
Silicone Structural Miamj
Adhesive Divispn
GE—074 | 1 per glass |Glazing bead (for Mahogany wood 3/4 in. x 1-1/2 in.| Nailed through the sash
edge. 1/2 in. glass thickness) frame at glass perimeter




NOTE:

TABLE 3:

The perimeter of each solid Mahogany
wood panel is trimmed to an overall
thickness of 1 in.

1.772

—e

—a

.630

.984

1.083

+/—.039

+ /—.039

551

197

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
WOOD DOORS
GLAZING METHOD

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.:

MQF70-2D

Scale:
1.5=1

Drawn by:
E. Fortin

Date drawn: Date revised:

08/07/98

Poge:27/ 27

File:
2D_panel.dwg

ENGINEER:

S0 VR REVIEWED Ry :

TILTECO .

TILLIT TESTING & ENGINEERING COMPANY
6535 NW 36th STREET, STE. 2~
MiAM!. FLORIDA 331%3

ALTER A. TRAIT JR_. P B,
STRUCTURAL EN R

FL. LIC.NO. 43157

f) 6‘“&‘3

PART #

QTY.

DESCRIPTION

MATERIAL

DIMENSION

LOCATION

1

MQ, Raised Wood Panel

Mahogany Wood

1-3/4 in. thick.
Refer to Table 3

3/16 in. from glass rebate

PRODUCT RENEWED ™

TYPE OF GLASS

[in.] [sq.ft.]

MAX. PERI. [MAX. AREA

WP: 1"3/4 RAISED WOOD PANEL

1511/8 | 883

Depends on
frame size.

SENCO, Nails

Galvanized steel

1-1/4 in.
gauge 16

2 in. from corners &
10 in. o/c.

&3 complying with th
BIMingCodse b the Florida
Acceptance No 02-0129 o9
Expiration Date’

As needed.

Dow Corning 995
Silicone Structural Adhesive

Silicone

N/A

At shown interfaces.

GE-064

1 per panel
edge.

MQ, Glazing bead (for 1 in. glass
thickness or for wood panel)

Mahogany wood

3/40n. x 1/2 in.

Nailed through the sash frame
at glass/wood panel perimeter




